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Part-] — Common
1. Which of the following items is shown in the Receipt and Payment account ?
(A) Only items of capital nature
(B) Only items of revenue nature which are received during the period of accounts
(C) Only items of revenue nature pertaining to the period of accounts

(D) Both the items of capital and revenue nature which are received during

the period of accounts !
Freafenfian 3 % it =g wita < sprems w3 foears et & 2
(A) waa foiimm wofa = awd
(B) ﬁmmmaﬁaﬁqﬁhmmﬂ:%mﬁmﬁﬁ%
(C) e adi # sty § e Tty ol
(D) T ol T T # I wd W ow A s 2 e a
2. Goods bought for Rs. 55,000 passed through sales day book will result in :

(A)  No effect on gross profit (B) Decrease in gross profit
(C) Decreasein net profit (I Increase in gross profit
55,000 ¥va 4 Eﬂmwwﬁaﬁﬁww%mamﬁavﬁmm :
(A) THd T W FE w78 (B) wwe ey F et
(€) ¥ oy | =+t (D) H&Fe oy 35
3. Endowment fund receipt is treated as -
(A) Capital Receipt (B) Revenue Receipt
(C) Loss (D Expenses
warardl fify wifta fam & =g 9w st ®:
(A) it i - (B) T wiftg
(C) THaF D) @+
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Match the following :
Column ‘A’

(1) Preliminary Expenses

(2) Interest Received

(3) Patent Account

(4) Outstanding salary

1 @ @
A) @ @ (@
(B) (&) (@ (a)
() (@ () (e
D) (@) (@ (&)

et = frem S

HieTH ‘A
(1) wrfas =3
(2) wrE =
(3) Uéz @
(4) T A
1 @ @
(A) @© (@) @)
(B) @ (&) (a)
(C) (@) (d) (o)
D f(a) (@ (b

(4)
(&)
(b)
(b)
(¢)

(4)
(b)
(5)
(b)
(e)

(a)
(b)
(¢)
(d)

(a)
(b)
(e)

Column ‘B’

Real Account
Current Liability
Fictitious Asset
Revenue Received

wiew| ‘B’
Cirs I CEREIR)
T Sl
Heafas T
FliskiEs!

Cost of free samples and gifts are included in :

(A) Prime Cost

(B) Factory Overhead

(C) Office and Administrative Overheads

(D) Selling and Distribution Overheads

o sy T 2R 3 e e e

P.T.O.



6. A bad debt recovered during the year will be -

(A) Capital Expenditure (B) Revenue Expenditure
(C) Capital Receipt (D) Revenue Receipt
a8 & SR Avives sor =4 T Bl
(A) s =g (B) e =
(C) fsfrra wiftg (D) s wiftg
7 The successful marketer will try to understand the target market’s ...
(A) State of deprivation (B) Expression
(C) Knowledge (D) Need, wants and desires
TS Tl T8 AR R s Y THFA F WA F07 |
(A) 9= FT Iy (B) sfysafam
(C) FH (D) M=, =g S sty
- ([ R 15 the set of benefits or values that any offering promises to deliver to
customers to satisfy their needs,
(A)  Value proposition (B) Customer satisfaction
(C) Functional benefits (D) Emotional benefits
e S A A T WE R S A o Avew west w3t wewd 5 e
w1 P fau 3 = gy w
(A) Toq v (B) 7w g
(C) =wrafms amy (D) TEATE &Y
9. According to the Product concept of marketing consumers will favour products
that

(A) Offers the most quality, performance and features

(B) Organization focuses on making superior product and improving them
(C) Neither (A) or (B)

(D) Both (A) and (B)

faqom Y 3 SRR F SR ST 39 I8 ) ez )

(A)  weitem oreren, wewi= iR ghverd vem s &

(B) HTEA 50 IR 91 3 5 Swew o w0 A S iEd F

(C) T (A) =1 (B)

(D) (A) 3w (B) SF
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10. Match the following :

Column ‘A’ Column ‘B’
(1) Decline Stage (@ Product is unknown'
(2) Growth Stage (b) Product is competing with alternatives
(3) Introduction Stage (e) ' The product is widely known and
consumed
(4) Maturity Stage (d) The product faces reduced competition

1 @ @ @
(A) (& (@ @B (@)
(B) @ (© (@ (&)
©) b (@ (@ (d
M ) (@ B (@

ﬁmﬁﬁaawﬁamﬁm:
I ‘A’ wiem ‘B’
(1) ez e (@) TR AFEE
(2) dfs = (b) S Sefeae vt w1 w E
(3) witaa e (c) TR AT &Y D S S € S e
fopn =men
(4) wfTEEE STEE (d) SR =ErEa Wi e e

n @ & @
(A) @ (@ (B (d
B) @ ) (@ (b |
© B (@ f© (@
M) (© @ B @
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11.  Read the following statements -

Statement 1 - Pull promotional strategy refers to the customers actively seeking
out the product.

Statement 2 : Pull promotional strategy requires a highly visible brand which can
be developed through mass media advertising or similar tactics.

(A) Only Statement 1 is correct

(B) Only Statement 2 is correct

(C) Both Statement 1 and Statement 2 are correct

(D) Both Statement 1 and Statement 2 are incorrect

FreffEs w99 ufe -

FIT 1 :ﬁﬁwtﬁﬁmmmmﬁﬂ%ﬁmmﬁmaﬁmmﬁﬁr
FT 2 : I WS Wi # A T amﬁmmmﬂﬁammﬂ?ﬂﬁﬁﬁﬂ%
A T e fararet o gt e ) o 2 e fererfa fovar w1 g

(A) FoAFYT 1908

(B) Haa e 2 w1 &

(C) *Y71 N F97 2 3ri wat &

(D) FoF 1 3R w97 2 <1 TEE E

12. 'Who defines, “To manage 1s to forecast and to plan, to organize, to command, to
co-ordinate and to control” ?

(A) Henri Fayol (B) Peter F, Drucker

(C) Joseph Messie (D) Stanley Vance

#ﬁ%mﬁ,'*ﬁmmmmmmmm,mm.m
T, W F AR e e k2

(A) &0 e (B) X U, gt
(C) s ot (D) =g
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13.  The schools of management thought are theoretical framework for the ......ccoivenves

(A) Human Resource Management (B) Production activities

(C) Study of Management (D) Engineering
waEsE TSR T s % foqu Hrgifes w9 §)
(A) HFE FHYE T=EE9T (B) Feqre Tfafateaf
(C) WA = AT (D) Sehfmf

14. The theory Z as given by Prof. William Ouchi suggests that involved workers are

the key L0 INCreAse .......ccimimmmmmisenies
(A) Productivity (B) Cost
(C) Demand (D) Price

W, fafeam i=ht g & 8 @i 7 et & o ST A ovvcevero T G BT A E N

(A) Feqeshe (B) =T
(cy =fn : (D) FHHd
16,  ovrrosseseecsesiessennss 18 the assignment of any responsibility or authority to another

person (normally from manager to a subordinate) to carry out specific task.

(A) Centralization (B) Decentralization
(C) Delegation (D) Assignment
e oo T W T F B fog el SR S (FERR: YR W
sefrre o) 1 forier A sfuem o €
(A) g (B) faadiwa
(C) Wil e M) FEUR
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16.  Which of the following statements explains complex buying behavior of the
consumer 7

Statement I : This type of behavior is encountered when consumer is buying an
expensive and infrequently bought product.

Statement IT: They are highly involved in the purchase process but has difficulties
determining the differences between brands.

(A)  Only Statement I is correct

(B) Only Statement II is correct

(C) Both Statement I and Statement IT are correct

(D) Both Statement I and Statement IT are incorrect
Freafafan 4 & S w97 s9imm @ ofem wieh SIAE I A HE T 2

AT 1 : 39 THR &1 e 79 96 S & IE IYTER I T S w R -wa wle
AT I g W a

mn:ﬁmﬂwﬁmﬁ%wﬁa%%ﬁﬁ%ﬁ%ﬁ&hmﬁﬁ%ﬁm
HTHAT ] U= B

(A) FTAFGITHE
(B) &99 F97 I e &
(C) F97 1 3R F97 [ =rf @et &
(D) A 1 3R F97 11 21 e &

17. Marketers have to work hard to attract consumers’ notice because of :

(A) Selective Distortion (B) Selective Attention

(C) Selective Retention (D) Perception
wﬁmﬁmmmmﬁma@mmﬁwﬁ%ﬁnﬁm&
R

(A) 999 fasfa (B) =oTHE wH

(C) =arew=s famrm (D) &
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18. In Maslow’s Need Hierarchy Theory, which need is at extreme or highest end of the

hierarchy ?

(A) Egoistic need (B) Social need

(C) Self-actualization need (D) Physiological need
w@%mwwhﬁﬁ,ﬁww%wmﬁnﬁtﬂ% ?
(A) FFEFH AEEAHA (B) wfTE S

(C) SHH-THTEHR 1 SETTHA (D) YR AEvHEHT

19.  Which of the statements correctly explains characteristics of ‘culttire’ ?
Statement I : Culture is adaptive.
Statement 11 : Culture is environmental.
(A) Only Statement I is correct
(B) Only Statement II is correct
(C) Both Statement I and Statement II are correct
(D) Both Statement I and Statement IT are incorrect
Sta wye weta | = fadmst =1 We = wa E 7
weA [ : Tl E’-Iﬁ"‘ﬂ‘ (o
F97 11 : gepfa gafaoia 2
(A) weE HuA [TE ¥
(B) Had w9 158 &
(C) e I iR e I3 T8 §
(D) A I 3 F9A [ e €
20. Prepaid expenses are recorded on which side of the Balance Sheet ?

(A) Assets (B) Liabilities

(C) Equity (D) Expense

e T & e e F fR avE oS A T g 2

(A) wfEr | (B) zand

(C) wFEd (D) =4 |
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21.  Financial accounting statements are subject to which of the following ?

(A) Cost audit (B) Forensic audit
(C) Statutory audit (D) Performance audit
ferita et faerr Fostfafian § @ fras anf 8?2
(A) TH o gl (B) hitfas o aiten
(C) Aurfr Fen when (D) FAsar e vt
22.  Under which category are cash receipts from the sale of fixed assets recorded ?
(A) Revenue activities (B) Investing activities
(C) Operating activities (D) Financing activities
et wafwdi 1 fasnt & 7o witas fm avit 2 siavf o 5t et § 2
(A) TsEs nfafafiaf (B) Fravft nfafafimt
(C) wrer fafafiaf (D)  fererdreo nfsfafuat
23.  When a customer returns merchandise, which account should be debited ?
(A) Inventory (B) Accounts receivable
(C) Sales return and allowances (D) Purchase returns and allowances
T TS e e S ¥, 9 forn @t § 3 fam w2
(A) Wyt (B) W w@mt
(C) forrt Aot siiv @ (D) itz =Tt o ww
24.  The Drawing Account is classified as which of the following ?
(A) Nominal Account (B) Personal Account
(C) Real Account (D) Expense Account
S @ 1 Freffen § 9 faes w9 § it faa e 2
(A) AT @ (B) =afErma @
(C) aafas @ (D) =73 @
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25.

27.

Which of the following statements 1s the most accurate regarding the Balance
Sheet ?

(A) Liabilities = Assets + Shareholders’ Equity

(B) Shareholders’ Equity = Assets + Liability

(C) Assets = Shareholders’ Equity + Liabilities

(D) Assets = Shareholders’ Equity — Liabilities

St vtz & way # FreAfafaa 4 A G F97 a8 980 ¥ 2
(A) 2eifeat = dufe + dreure| &1 3

(B) FraTTeR] F1 sl = Huid + 29

(C) Hufd = VTR &1 REe + Sl

(D) Fufe = ST i sfEa — &

Which of the following is considered an artificial personal account ?

(A) Bank Account (B) Cash Account

(C) Rent Account (D) Machinery Account ;
fFrefafas 1 4 frd $hm st am 5@ ST E 2 |
(A) &% @ (B) TFg =

(C) Ty @ (D) e

Section 68 of The Indian Contract Act, 1872, provides that if a person, incapable of
entering into a contract, or anyone whom he is legally bound to support, is supplied
by another person with necessaries suited to his condition in life, the person who

has furnished such supplies is entitled to .........ccoueeeevee. from the property of such
incapable person.

(A) Reimbursement (B) Restitution |

(C) Compensation (D) Payment

Wt sy st 1872 % 9 68 § 7e wawr & B afz w1 s, sy d an w0
# srgmd & A FE T =f Fod o Hrph w0 @ eRdA 3 % fau A §) =3 Tt a7g =
o e e et e e A e o, & o e e Rt ST

T & e TR e S F GI F e 1 THAT B
(A) e ; (B) =@l
(C) W (D) S |
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28.  Under The Indian Contract Act, 1872, an agreement in restraint oftrade is

However, an agreement between partners not to carry on business other than that

of the firm while they are partnersis...._..._.__ »according to Section .................
(A) Void, Valid, 27 (B) Valid, Void, 28

(C) Void, Enforceable, 29 (D) Valid, Enforceable, 30

I STy sfefrm, 1872 & ea, =R Y DT AT U TEEE el
(A) ¥g, 27, 9= (B) 9,28, 7=

(C) ¥4, 29, ¥d-Tg (D) 9%, 30, yadg

29.  According to Section 7 of The Indian Contract Act, 1872, an offer or proposal must
be accepted ............................, and such acceptance must be communicated to the
sesvineannsy OF the contract is not formed. The acceptance must be made in the

manner specified in the offer, ifany.

(A) Expressly, Offeror (B) Orally, Offeree

(C) Impliedly, Promisor (D) Explicitly, Offeree

WA ey afem, 1872 #1 9 7 % SER, U6 YR A TEE B o,
R fom s el o Tt R d AR A 1 gfew o e =fed,
FH TN T A & | eph, At e B, e fiffe ode @ % v =he

(A) = ¥ A, yEEs (B) iflas =9 3, wam=s

(C) fafemmdd, e (D) *T= ¥}, F&=F

T.B.C. : 2024/JA/T1 12



J1.

T.B.C.

According to Section 74 of The Indian Contract Act, 1872, a cnntrad;t may stipulate
B A s for breach, which is predetermined by the parties as a

the court may adjust it to a reasonable amount.
(A) Penalty, Excessive

(B) Fine, Nominal

(C) Liquidated Damage, Reasonable

(D) Liquidated Damages, Unreasonable

T SrqeE SfafEE, 1872 1 U0 74 F R, Wﬂﬁﬂ‘aﬁlﬂﬂiﬁﬁm
frvifia #1 T &, 1 THEE S e mw%mﬁqﬁﬁm@ﬁﬁfﬁﬁtlmﬁ uﬁ
Y2 L1 £ 11 ) (USSR er oo % A srETen o8 Sfaw ufe § wHEiea S 9w g

(A) HfA, FTEEE |
(B) HYEUS, ATHATA

(C) uftgars &fF, 340

(D) T B, Srfed

According to Section 12 of The Sale of Goods Act, 1930, where there is a sale of
EODAS DY ....ccmninrorrmrnsnssais , the seller must ensure that the goods aré G to

(A) Description, Conforming, Rescind

(B) Sample, Identical, Amend

(C) Auction, Accepted, Terminate

(D) Delivery, Usable, Enforce

o #1 fast aifufiam, 1930 =1 91 12 F FTAR, F& ooenrieees zmnmaﬁﬁaﬁ
ot %, fasa =1 7w gifvTa S o % °e Ry % Léa e A& E @
(A) ﬁ'ﬂ”h HATEH, T |

(B) A1, FHA, GENEA
(C) e, %iga, wATa |
(D) Taraco, wEm R A, T '

: 2024/AM 13 . P.T.O.



32.  Under Section 18 of The Sale of Goods Act, 1930, if a contract for the sale of goods

includesa.......................... clause, the seller must deliver the goods as per the agreed
..................... - Failure to do so entitles the buyerto ..................... damages.
(A) Warranty, Terms, Specific (B) Condition, Quality, Seek

(C) Description, Quantity, Recover (D) Risk, Delivery, Avoid
T 1 Tt aifefaam, 1930 1 41T 18 # wew, 7f ot & fast B sEu & oo, WY

e &, A FRA B TEH eovovvrnenernnn F FER AT FTE O BF 1 A Y
(A) =, A, fafere (B) Teafa, qumsn, Tema
(C) ﬁmmgwﬁ"‘a (D) wiftes, faam, 9fer

33.  An LLP with a large number of partners is planning to restructure its management
to enhance operational efficiency. Considering the provisions of The Limited
Liability Partnership Act, 2008, which of the following strategies would be most

effective in aligning management with the new structure ?

(A)  Reconstituting the LLP agreement to redefine the roles and responsibilities of
designated partners

(B) Increasing the number of partners to improve management oversight

(C) Dissolving the LLP and forming a new partnership with the same partners

(D) Appointing external auditors to oversee the internal restructuring process

@ﬁmﬁ@ﬁ%wwwmammﬁmmmﬁmm

1 o e v &1 < 2o it s, 2008 % A A S v gy, e

F 7E O % W W w0y Frefafen § 3 S o sa8 gy a2

(A) ?ﬁﬂﬂvﬂzﬁﬁ%ﬂﬁmaﬁaﬁ?ﬁﬁmﬁﬁfﬁfmﬂqﬁmﬁamﬁﬁfmm
THEA 1 e

B)  wae Frfvarmr § gum & for wrint =1 g smm

(C) wormerdt ®1 wm %o s 34 wrfiert  we v 7 v s

(D) ahﬂﬁawmwfmmﬁﬁmﬁmmﬁﬁ@uﬁmﬁaﬁﬁgﬁam

T.B.C. : 2024/JA/11 14



34. Ifan LLP partner wishes to withdraw their contribution but is conterned about the
impact on the firm's operational stability, which section of The l':rjmited Liability
Partnership Act, 2008, should they review to understand the i;nphc:atmns and
procedures ? _

(A) Section 63 regarding the withdrawal of contributions |

(B) Section 70 on the process of altering capital structure

(C) Section 64 related on the modification of partner contributions

(D) Section 65 concerning the effect of partner withdrawals on the LLP’s financial
standing |

afs ¢ Terrerdt yriier S dEE AT A e ¢, A W e e w

wura & an § ffew &, @ i Sz arierd sifufrem, 2008 i mn*ﬁra%ﬁl%mf st

wfewraal 1 @ugm & fow weian e =ed ?

(A) iU I Tt & Hay {963 |

(B)  d5ft e # ufiads &t e woar 70 |

(C) T 64 SRR AT = HeieA & FafvE § |

(D) et @ fawra feufa o adier 1 famd & wvmE | W& 9 65

35. A company is negotiating a contract with a supplier and is concerned about ensuring

that all agreements made during the negotiation phase are le&]iy' enforceable.

According to The Indian Contract Act, 1872, which type of agreﬂi'nent would best
ensure enforceability ?

(A) Memorandum of Understanding (MoU) |
(B) Contract with Consideration |
(C) Letter of Intent (Lol) |
(D) Preliminary Agreement |

ﬁmﬁﬂqﬁﬂﬁf%mwmmmmrﬁiﬁﬂmmﬁéaﬁﬁﬁm
& i e & w0 & B R TR e EE I A @ e A | SR e
wfufrm, 1872 % #1981, mmﬂmaﬂ?ﬂnmﬁmﬁwgﬁﬁmm ?

(A) EHEE 199 (UHEY) |
(B) wirwel =& 19 gAY |
(C) #IWE 9A (THSITE)
(D) wiifees s |
T.B.C. : 2024/JA/I 15 | P.T.0.



36. Inthelandmark ease of K. K. Verma Ve, Union of India, the Supreme Court addressed
issues related to the enforceability of contracts in the context of government

contracts. Which principle did the Court emphasize to ensure that the terms of such
contracts are adhered to 7

(A) Doctrine of Free Consent
(B) Doetrine of Specific Performance
(C) Doctrine of Frustration
(D) Doetrine of Consideration
B3 Ui & e T, e wwe it 5 3w se @ e F srEd w5
SR B et qRal s el | e 3 T g w0 & o e g T
= o 16 R et =it il 1w e 9 2
(A) w=dd wenla %1 fagiE
B) fafere watt o fagm
(C) Fren =1 fagra
(D) fa=m = fagia
37.  Under The Sale of Goods Act, 1930, which section details the principle of “sale by
sample,” and what complex condition must be met for the goods to conform to the
sample provided ?
(A) Section 15; the sample must match the bulk in quality and characteristics and
be representative of the entire consignment

(B) Section 16; the sample must be accompanied by a detailed written description
and guarantee of quality

(C) Section 17; the sample must be tested and approved by the buyer before shipment

(D)  Section 18; the sample must reflect the exact specifications and conditions as
described in the contract

ot it Fasnt aifiefrarm, 1930 % wwee, wieht o ' g fas' S fagia =1 faa 2@ &

SR WG 3 78 T & ey A < for St wifew v g A e 2

(A) o 15; 7 o SR faiemet J a9 | A @ =ited oiv dyf g wfafi
B =t

(B) I 16; 1 & wy forvger fofiam faator ofin worern =6t it St =il

(C) Wt 17; farwdde & weel T3 o1 @iier g waew 3l srwEe fma s wifed

(D) w1 18; 93 =1 3y & afvia vt fafiremed s vl 7 it o afel

T.B.C. : 2024/JA/M 16



98. Under The Sale of Goods Act, 1930, what does “warranty” mean, and what is a

fundamental characteristic of a warranty ?

(A) Section 2(18); a term of the contract that guarantees certain standards or
I
conditions but is secondary to the main obligations

(B) Section 2(19); a binding promise that the goods will meet specific performance
criteria |

(C) Section 2(20); a guarantee that the goods will be delivered by a specified date

(D) Section 2(21); a legal assurance that the goods are free from defects and will

perform as described
|

rer 2 Pt s, 1930 % Aw, oA @ ww ol &, 3R AR W gEnw Frw

FnE ?

(A) ﬂmzum;ai#uﬁwmsh@qﬁaﬁmwaﬁmaﬁﬁtﬁmgmmhﬁiﬁ
v 7fon &

(B) umzum;wﬂimrﬂmﬁwﬁﬁmmhqmﬁﬁwm

(C) T 2(20); TE A i w1 Fafe fif o fefea foren i

(D) oI 2A21): TF FFEA SeareR i v 3 e & ol i sE e

T.B.C. : 2024JAM 17 P.T.O.



39. Match the following types of partners with their descriptions under

The Partnership Act, 1932 :
List ‘P
Active Partner

(a)

(b)

(el

(d)

(A)
(B)
(C)
(D)

Sleeping Partner

Nominal Partner

Sub-Partner

()
(3)
(2)
(1)
(4)

(H)
(1)
(3)
(2)
(1)

(e)
(2)
(4)
(3)
(2)

()
(4)
(1)
(4)
(3)

(1)

(2)

(3)

(4)

List “IT’
Contributes capital and shares profits
but does not participate in the
management
Holds himself out as a partner but does
not share in the profits
A partner who actively participates in
the conduct of the business
Shares profits from a partner but does
not have a direct relationship with the
firm

ARt S, 1932 5 T et ST S o R 3 e i

(ax)

(b)

(c)

(d)

(A)
(B)
(C)
o)

TB.C. : 2024/JAM

T

LIERE

T T
IGHTH F HEEN

I-HHER

(a)
(3)
(2)
(1)
(4)

(b)
(1)
(3)
(2)
(1)

{e)
(2)
(4)
(3}
(2)

(d)
(4)
(1)

(4)
(3)

18

(1)

(2)

(3)

(4)

gt Ir
ATt =1 AT Fwen & o any g
T o wavm F v ad e g
=4 FI UF IER % ¥9 § TEa & e
HATHT HIE 7
U WPTER S SN # gaee § afeg
9 F a7 o
T4 iR | & 9w s & e
W & WY Y T T ey



40. Match the following modes of dissolution with their corresponding sections under
The Partnership Act, 1932 :

List ‘T List ‘IF
(@) Section 40 (1) Compulsory dissolution
(b) Section 41 (2) Dissolution by notice
(¢) Section 43 (3) Dissolution by the Court
(d) Section 44 (4) Dissolution by mutual agreement

@ (&) ( (@
(A) @ (@ (@2 @)
B) 1) @) @ (@)
© @ @ QO @
M @ (@) 4 (1.

qrEer s, 1932 % 98 fawes & fFrefafan o #1 37 Haida sEuri & wg
f‘q?ﬂ.sa: T |

i T

(@ w40 (1) sfEd e

(b) w41 (2) e g fEgEA

(c) HRT43 (3) =Ty g faeed
(d) W44 (4) Tt Fewia | fawes

(@ @ f© (@
A) @ @ @2 @
(B) (L @) @ (@)
) @ @ @O @

om @ @ @ @M
T.B.C. : 2024/JA/IL 19 P.T.O.



41, Match the following terms related to the rights of partners with their corresponding
sections under The Partnership Act, 1932 :

List I List II
(@) Section 9 (1) Right to access books
(b) Section 12 (2) Conduct of the business
(¢) Section 15 (3) Application of the firm's property
(d) secﬁan 16 (4) Personal profits earned by partners

@ @) (@ @
A 1 @ @ @
B) B 1 @ @
€ @ @ @ @
M 2 () @ @
HEEH HfuEy, 1932 % Aeq TEEH ® sfvwn § gatue Pt w6l 51 39S gatie

HAHTN % Ty FAfea wife
et T g I
(@) =19 (1) &Il 5 TE= 1 AR
(b) w12 (2) =HEE HT FHE
(¢) =15 (3) H &l wafa F1 swEm
(d) w16 (4) wrEEN g1 s =T wm

@ ® © @

W O @ @ @

B @ O @ @

© W @ M @

D @ @ @ @
TB.C. : 2024/JA/T 20



42,  Match the following types of goods with their characteristics as described under

The Sale of Goods Act, 1930 :
Types of Goods

(1)
(2)
(3)
(4)
(5)
(A)
(B)

(C)
(D)

Hre il
oy -
AT & W :

(1)
(2)
(3)
(4)
(5)
(A)
(B)

(C)
(D)

Sale by Sample

Sale by Description

Sale by Auction
Sale of Unascertained Goods

Sale of Specific Goods

(1) (2)
(e) la)
(@) (el
(b) (a)
(e) (d)

(3)
(b)
(e)
(d)
(e)

A 51

(4)
(e)
(b)
(e)
(a)

e & srEn fas

et gro fast

a1 w1

fafyre Fgsi #1 fawl

(1) (2)
(e) (a)
(@) le)
B f(a)
(c) (d)

T.B.C. : 2024/JA/M

(3)
(b)
(e)
(d)
{e)

(4)
{e)
(b)
(e)
(a)

(5)
(d)
(d)
(c)
(B)

(5)
(d)
(d)
(c)
(b)

21

(a)

(b)

(e)

{d)

(e)

et wfufom, 1030 & %4 3fvie Freffafes W= &

{ex)

(B)

(e)

(d)

(&)

¢S
Goods are sold based on the
description provided by the seller
Goods are sold te the highest bidder
in an auction setfing
Goods are not yet identified or agreed
upon at the time 8f the contract
Goods are identﬁd and agreed upon
by the parties at é!ﬂ time of the sale
Goods are sold based on a sample
provided by the illar-

=1 Tt fagrmat |

fﬁimamﬁﬁﬂ'iﬁmw%wmmm
E i G

et Afdn  ame guh sfi s e
=1 = A o

Sy & EHG Wi I T TesH e
WET W & w8
fasrt & T W R R T S ¢ A
s g S W A sE AR
faar g 9T AR T TR & YR
T\ =1 S

PIRO;




43.  Match the following concepts with their implications in accordance with The Sale of

Goods Act, 1930 :

(1)

(2)

(3)

(4)

(5)

(A)

(B)

(C)

(D)

Concepts

Transfer of Property (a)

Passing of Risk (b)

Delivery (e)

Right to Rescind

(d)

Buyer’s Obligation to Examine (e

Goods

(1) @ @ @ &)
e @) @ (@ (@
B) (@) @ (© @
@ @ @B @ @@
e} (d) (@ (B) (e

T.B.C. : 2024/JA/M 22

Implications

The buyer has the right to cancel the
contract if the goods are not as per the

contract

The responsibility for loss or damage

of goods shifts from seller to buyer

The goods must be physically handed

over or made available to the buyer

The seller must ensure the goods are
fit for the purpose agreed upon

The property in the goods passes to the

buyer when the contract is made



e & e sfufm, 1930 % swER Frefefad sEuRmst 85

Fife .
AT

(1) wufa = T

(2) WA = e

(3) feei=i

(4) T F T AMTERR

(5) WTHIE St WE HLA 1 shdl Hl

e

1 @ @ @ 6
A) @ @& @ (@ (@
(B) ) (@ (e () (d
© @ © ® f @

D © (@ (@ (&) (e
T.B.C. : 2024/JA/I

(a)

(b)

(c)

(d)

(e)

23

fafeend & foem

ST el = 9T = o e

P.T.0.



44.  Match the following legal terms with their implications on contract enforcement
under The Indian Contract Act, 1872 :
Terms Implications

(1) Forfeiture (@) A legal remedy where a party is
entitled to be compensated for the work
done or services rendered

(2) Quantum Meruit ()  Compensation for a breach where only
a small amount is awarded as symbolic
damages

(3)  Specific Performance (e) A remedywhere a contract ig enforced

as agreed upon, requiring exact

performance

(4) Nominal Damages (d) A clause specifying a pre-determined
amount of damages for breach

(5) Liquidated Damages (e} A situation where a party loses an

amount due to a breach, often without
additional compensation
(I (2) 3 @) (B
(A) (&) (@ (@ B) (d
B) @ (e (a) (b)) (o)
(C) (@ @© (@ () @)

M) @) (@ () (@ (@
T.B.C.: 2024/JAM 24



wredta sy S, 1872 % T SrEY e T ffemd &y frefaten s
It &1 foem wif

(1)

(2)

(3)

(4)

(5)

(A)
(B)
(C)

(D)

urd
HaA

a1 fore =umn

fafre gevi

AaTS i Afa

gigera gid

(1)
(e)
(d)
(@)
(b)

(2)
(@)
(e)
(e)

(a) -

T.B.C. : 2024/JA/TL

(3)
(c)

(@)

()
(e)

(4)
(&)
(b)
(e)

(e)

(5)
(d)
(e)
(b)
(d)

25

(a)

(b)

(e)

(d)

(e)

A= |

TS HAl 39T el U 4 S R e
mmmaﬂr@ﬂ%ﬁﬁmwﬁm
A F1 FFA B I

& weerr % forg g sl e
s % w0 & e g1 H e d wet
foran i

wF I T FE H genfa B FHER
A for < &, St A 1 arEvEe
& |

e s 3 fom gd-Favifta af ffde
FH GEN UH EE |
ﬂ,ﬁﬁﬂﬁﬂﬁﬁ?ﬁﬁﬁfﬁﬂﬁﬁmﬁﬂﬁ
m‘aﬁwwﬁr’rﬁ%w
aﬁﬁaageaﬁ@fﬁﬁrﬂ

P.T.O.



45.  Match the following types of representations with their effects on contractual validity
under The Indian Contract Act, 1872 :

Types of Representations Effects

(1) False Representation (@) Misleading information given with
intent to deceive, making the contract
voidable

(2) Misrepresentation (b) False statement made with no
intention to deceive but affecting the
contract’s validity

(3) Fraudulent Misrepresentation (¢) False statement made which induces
another party to enter into the
contract, rendering it voidable

(4) Innocent Misrepresentation (d) Arepresentation made by a party that
leads another party to enter into a
contract, based on which the contract
becomes void

(5) Deceit () An unintentional misrepresentation
which leads to a contract being
voidable but not always actionable
for damages

(1) (@) 3 ) &)

(A) @) (e (@) (e &)

(B) (@ (@ (@ (B (@

(C) (@) (e () () (b)

- @) @ (&)
TB.C. : 2024/JA/T1 26



WA SgEY Sfufm, 1872 % aed Sfaad Jua R 3 w9 & ae Frefated S
A& &1 e i

(1)

(2)

(3)

(4)

(5)

(A)
(B)
(C)

(D)

T.B.C. : 2024/JA/M

TS & U
o fegor

Fqequ TeATEAET

IEHERIGGERIE

(1)
(d)
(e)
(a)

(b)

(2)
(e)
(d)
(e)
(e)

(3)
(a)

(a)

()

(e)

(4)
(e)
(b)
(d)

(@)

(5)
()
(e)
(b)

(d)

27

(a)

)

(e)

(d)

(e)

o

WIFeh ST & Y Y & S 37, e
1 AR A # |

ey foelt 502 o o ¥ e =t v
1 Bt e A ) TR R
TR arAr fe T S a9 Y aE
# e €9 % g # A FT R
YT 1 S

Ag F It W g fHm o
wfaffees f o= 9= g e | wEm
m,ﬁnﬁmmi&aﬁuaﬁﬁmt
TH FFAE H H 11'( TEmEEE W 6
STEY T T8 FT AN S & e At
= fer wiven Hrfare A4 74 ¥

P.T.O.



46.

Statement I : The consideration or object of an agreement is lawful unless it is
forbidden by law, or is fraudulent, or involves or implies injury to the person or

property of another, or is immoral, or is opposed to public policy.

Statement I1: An agreement with unlawful consideration is voidable at the option

of the aggrieved party.

{A) Both Statement I and Statement Il are true and Statement 11 is the correct

explanation of Statement 1

(B) Both Statement I and Statement II are true but Statement Il is not the correct

explanation of Statement [
(C) Statement I is true but Statement 11 is false

(D)) Statement [ is false but Statement II is true

w1 TR m i e e Nt ve s Fwwm e A

YrETET aren €, 91 95 (HE 37 e 91 9uie 5 9 ST a1 91 e 8, @ Aas
B, g Edsts Jifa = faiy T80

e 11 - Tear wiaws = #i8 |w9stia vifss ue & fawes W eiE 7
(A) =97 1 =i e 11 o0 § ol s 11 9 1 98 =gren @

(B) F9 1 31 &9 11371 70 § & 599 [ F9F 1 51 98 =90 761 ©
(C) g+ 193 % S w9+ [17Tom ®

D) FETl TR s a9 e

T.B.C. : 2024/ JA/M 28



47.

Statement I : Specific performance of a contractisa discretionary remedy granted
by the court. '
Statement I1 : Specific performance can be granted for contracts ted to personal
services. |
(A) Both Statement I and Statement II are true and Stabemeqt?['u' is the correct

explanation of Statement I

(B) Both Statement I and Statement II are true but Statement His not the correct
explanation of Statement I g

(C) Statement I is true but Statement II is false ‘

(D) Statement I is false but Statement 11 is true 4

o 1« el s fafee a2 g e TN o Fadse e ¥

o 11 - S Bt & et s forg faferee vt W foan o e €

(A) o [ 3l wu 11291 T § o 9 119 191 9e =ren &

(B) wnﬂtwnﬁw%ﬁﬁmwuamﬁﬁaﬁm%%

(C) =9 15 ¥ 3w 11 7Tem & |

(D) 9 17/ & ik Fo 1L 6 8 ]

Statement I : Contracts induced by undue influence are -m:idatilT at the option of
the influenced party.

Statement II : Undue influerice exists when one party uses their position to
dominate the will of another, resulting in an unfair advantage.

(A) Both Statement I and Statement II are true and Statemenj 11 is the correct
explanation of Statement I

(B) Both Statement I and Statement II are true but State snt I1 is not the
correct explanation of Statement [

(C) Statement I is true but Statement II is false
(D) Statement I is false but Statement Il is true {
e 1 : 3T worE & S arEy wetas v 3 WIS £l

ml[:mmmmm%ﬁﬁw{m#mmﬁ % & fore 3 frufa
1 37 F &, Foers: wRtomrEeT sfea 7Y A © 1

(A) =g [ 3 %99 11 <H1 90 & 30 w9 11 %A 1 &t o =ren
(B) 97 I 3R =9 [1 95 §ea & A Fo 11 %9 [ 1 el =97 751 &
(©) w97 19 % AfFT o 170 ©
(D) F9A 170 & wiewd oo [ 7 ¢ 1

T.B.C.: 2024JAM 29 P.T.O.



49. Statement I: The dissolution of a firm automatically results in the dissolution of
all partnerships within the firm.

Statement II : Dissolution of the firm necessarily involves winding up of the
business, and the completion of all unfinished transactions.

(A) Both Statement I and Statement IT are true and Statement II is the correct
explanation of Statement I

(B) Both Statement I and Statement II are true but Statement I is not the
correct explanation of Statement 1

(C) Statement I is true but Statement I is false
(D) Statement [ is false but Statement 11 iz true

mﬁ::ftﬁmﬁ%ﬁm%wﬁwqw# Wit Tt Tl w=m: & gea 8
et B

m%;ﬁ%ﬁmﬁmm%waﬂﬁammmﬂm{t%aﬁ{nm
wfae &)

(A) F9 1 3R 97 11 1 9 ¥ oin 5o 11 %99 1 51 98 s &
(B) %97 I 3R &% 11 37 wca & B &om 11 o 1 1 et =y 1 &
(C) HHFIT™tofss o 11 om &

(D) 97 [ 7o ¢ afes wsea [ ag &

50.  Statement I : The principle of subrogation allows a partner who has paid a firm’s
debt to step into the shoes of the creditor and claim reimbursement from the firm.

Statement II : Subrogation rights are automatically granted to the partner
without the need for any agreement.

(A) Both Statement I and Statement II are true and Statement II is the correct
explanation of Statement I

(B) Both Statement I and Statement Il are true but Statement II is not the
correct explanation of Statement [

(C) Statement I is true but Statement II is falge
(D) Statement I is false but Statement IT is true

FIA 1 : gy 0 fgia O wrfier #, e w5 50 @ e e Sen @ e
R %R T S T A wfgf 1 2 we # arefa 3w

w9 I : 55 ot aweia #1 smavasm o agen =i afaere sfusn aefes =1 3
CARRE DRICE |

(A) %97 [ iR %9 11 2 54 & iR %em [ 597 1 51 w8 s &
(B) %9 I #iR Fw 11 i e & oifea &9 11 9 1 %7 aet = = &
(C) =914 % A w7 11 Tog 2

D) FFITOEAfFT T IITS R

T.B.C. : 2024/JA/I 30



51,

52,

53.

Part-1I—A-Commerce

What term describes a systematic examination of a business’s b

(A) Auditing (B) Analysis

(C) Verification (D)) Assessment
Fr v PRt a1 g S aferEl it Syt =t =
(A) T (B) fagemm

(C) FHITH (D) FeH

Which of the following is not a primary objective of auditing ? =

(A) Verifying the accuracy of the financial statements

(B) Ensuring compliance with laws and regulations

(C) Providing a true and fair view of the financial amount
(D) Providing investment advice

frefetan | 9 #m sifefn = mufts siva = ¥ 2

(A) Tardt feeol &t Bt 1 G w0

(B) Al it fafami w1 s gffvam &

(C) o= ufer 1 F==1 3l Feqy g9 wem T

(D) e Heme woE HT

What type of audit is typically conducted between two annual i

(A) Internal Audit (B) Interim Audit
(C) Continuous Audit (D) Final Audit
AR TR S A stz & we fHm gan w5 affee e sm & 2
(A) it wrEn yien (B) @fts i gl

(C) ¥Haa @@ wiien (D) =faw o gaan

T.B.C. : 2024/TA/MI 31
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54. Who is responsible for appointing the first auditor of a company, excluding a

government company 7

(A) Shareholders (B) Board of Directors
(C) Management Team (D) Auditor General
T H w1 wrEwt, fat F + gee wifsz 1 i & fow s et 2
(A) FrEHTTH (B) frw=vza
(C) Waw 3 (D) weErerEn wiwE
55. Cost Audit provides a true and fair view of which aspect of a product ?
(A) Cost of sale (B) Cost of goods sold
(C) Cost of production (D) Cost efficiency
&l Alfee et 3ome & o Tee] &1 w=1 oin Frovy gfesm wrE Fw@ @ ?
(A) Tt =1 @ (B) 9 MU HIE # HHA
(C) eI i TG (D) =T &7

56. What is the primary focus of a Management Audit ?
(A) Maintain books of accounts
(B) To highlight efficiencies in objectives, policies, procedures and planning
(C) Valuating internal controls
(D) Detection of errors and fraud
TR T T g TEe a7
(A) =i =i PR = TE
(B) sewdi, iferi, whwanstt af Ao § gamed = 3R F
(C) a1t Fg=ni &1 qegis e
(D) Azl 3 dramaEt F1 gar @

T.B.C. : 2024/JA/11 32



57.

59.

Which of the following is not a right typically granted to an auditor ?
(A) Right to inspect books of accounts !
(B) Right to ask for necessary information and explanation fnlpm the management
(C) Right to fair compensation |

(D) Right to make changes in the books of accounts whenever errors are found
Feiferfian § | S0 AR a1 v e T 1 e e st 1@ g 2

(A) Hﬁﬁgﬁﬁﬂﬁﬂmﬁm Fferamm

(B) VoA ¥ Eyg® SR S T w5 w1 AUEH

(C) 3faa gemas 1 SR

(D) & = gEt 3 FfE T S W OiEds FE AR

An act of unintentional mistakeisknownas .................o.e |

(A) Fraud (B) Embezzlement

(C) Error (D) Falsification

ST ) T TR BN e T W 0 R

(A) Yren : (B) T=A |

(C) T (D) SAFEFHT |

Which of the following completes the aspects of the Fraud Triangle, along with
Pressure and Opportunity ?

(A) Rationalization (B) Intention

(C) Integrity | D) Obligation

frefofad # § F11 a9 oIk s 3 Tg-w19 SranE e & des w1 e ?
(A) FfRHTT (B) ¥l |

(C) srEEa (D) =i

T.B.C. : 2024/JA/TI 33 PT.0.



60. Under The Companies Act, 2013, a company’s director who is unable to attend board

meetings for a continuous periodofi:ic i months may be deemed to have
.................... their office
(A) 6, Vacated (B) 12, Raaigntad.
(C) 3, Terminated (D) 9, Exited
FuAr SAfufEm, 2013 & TEa, T FTA H FTBIEF T oevneiicinirieiiidonns oEE F7 A
Frafy & forg & &1 Sami § 9 o 8 SEmd ¥, 38 30 R coovriiernenanenienens A
1 Hehell
(A) 6, @ faam (B) 12, ¥t ] fan
(C) 3,9Hmr - (D) 9, = mx Fret

61. Under The Companies Act, 2013, a company that intends to engage in a
transaction with a related party must disclose such transactions in the .........................
POBDBDS . i of the company’s dealings. This requirement is outlined
nSeckion ...

(A) Board Report, Transparency, 188
(B) Financial Statements, Compliance, 197
(C) Annual Report, Integrity, 184

(D) Corporate Governance Report, Fairness, 169

Syl sfufTam, 2013 9 T80, TF SO S Gatm T B Wy e § ger 2 w1 2
L RFTHRERTR correerorinreensss TG T D I cornrerecesionnes #93

(B) faity fammor, arqarer, 197

(C) = foad, weafear, 184

(D) IR g frded, Feaerm, 169
T.B.C. : 2024/JA/TI .34



62.

63.

A company has suffered financial losses and wants to reduce its share capital to

offset these losses. From which of the following does a company require approval to
reduce its share capital under The Companies Act, 2013 7

(i) Approval from the Board of Directors

(i) Approval from the shareholders through a special resolution

(iii) Approval from the National Company Law Tribunal (NL‘iLT}

(iv) Approval from the Ministry of Corporate Affairs

(A) Only (iii) (B) Both (i) and (iv)

(C) Both (ii) and (z1) (D) Only (i), (ii) and (iw)

o FE ) e T gen & A A v e # e & forg st SR e e e wed
| Frt sfufr, 2013 3 wEa fRe St ) voet S doft 3 A & Tt et # 9
fapat Tl 1 SEvAS Bl ©

G) TR dea | SR

(i) o Tase v % Hres | e § sgeEed

(fid) TG FH A AR (EEEE) § e

(v) TR AT & e § S

(A) e (iii) (B) =M (i) 3R (iv)

(©) SF GE) 2R (i) D) e (i), (id) 3R (in)

Which section of The Companies Act, 2013, provides the framework for the appoint-

ment and powers of a comapny secretary, and what is a key responsibility
|
mandated for the role ?

(A) Section 203; overseeing compliance with eorporate governance

(B) Section 204; maintaining the company’s statutory registers

(C) Section 205; ensuring accuracy of financial statements

(D) Section 206; managing investor relations

et s, 2013 #1 B ST, F wfE F fpafe oiR v @ g wden e
et &, 3y syfir 3 forw st el Rt @ ¥ 2

(A) T 203; AN TITEA % I Hi FAREA! S

(B) WM 204; Fut = Surfrer e =1 w9 T

(C) T 205; faxdta faatui &t weiwmar giHfvaa

(D) o 206; T qasl =1 wEaA

T.B.C. : 2024/JA/I1 35 P.T.O.



64. Match the following types of corporate documents with their roles in company

governance as per The Companies Act, 2013 :

Documents
(1) Shareholders’ Agreement (a)
(2) Corporate Governance Report (b)
(3) Register of Directors (c)
(4) Prospectus (d)
(5) Memorandum of Understanding (e)
(Moll)
Options :
(1) (2 @) (4) (B
(A) (@) (B) () (d) (e
(B) (e (@ @B (€ ()
(C) (@ (@ (e) (a) (b)
(D) B (e (@ (@

T.B.C. : 2024/JA/I 36

Roles

Details the rights and obligations of
shareholders and their role in
company management

Provides information about the
company’s governance practices and
board structure

Lists the directors of the company and
their details, ensuring transparency
and accountability

An offering documents that provides
information to potential investors
about the company’s securities

A preliminary agreement outlining
the terms of a partnership or other

business arrangement



Fdt affrm, 2013 % A FE wH § e il & we Feffa s S
1A EAES 1 e it : '
T
(1) VT & g9

@) =R e e

(3) feeri =1 ot

(4) TWiEEEH

(5) g T (THAE)

(1)
(A) (a)
(B) (e
(C)

(D) (b)
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(c)
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(4)
(d)
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(cx)
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()

(e)
(d)
(b)

(d)

(a)

(&)

(e)

(d)

(e)
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65.

Statement I : The Companies Act, 2013 mandates that at least one director on the
Board of a Company must be a resident of India.

Statement IT : A resident director is defined as someone who has stayed in India
for a total period of not less than 182 days in the previous calendar year.

(A) Both Statement I and Statement II are true and Statement II is the correct
explanation of Statement I

(B) Both Statement I and Statement II are true but Statement II is not the
correct explanation of Statement [

(C) Statement I is true but Statement I is false
(D) Statement I is false but Statement II is true

&Y 1 : Fot Afufag, 2013 ﬂiaﬁmm%ﬁwa&ﬁ%ﬁs‘ﬂmﬁmﬁ
TRy ama =1 framt 39 =1fed

U 11 : U et frovrs 1 3 =afim & =9 3 witsfim fr o 2 o fros Sdter o &
A 82 "R A Fn g F faw yma A wm A :

(A) F97 1 3R 597 11 < w3 ¥ o o 11 997 1 %7 98 = &
(B) mxaﬂwmnﬁmﬁﬁﬁqmmummxﬁaﬁmqﬁt
(C) FHITIEAFT T I o

D) FEITTREA I T I TG 2

Statement I : The Companies Act, 2013 mandates that every company must have
a Corporate Social Responsibility (CSR) Committee if it meets certain financial
criteria.

Statement IT : The CSR Committee must have at least three directors, including
at least one independent director.

(A) Both Statement I and Statement IT are true and Statement II is the correct
explanation of Statement [

(B) Both Statement I and Statement II are true but Statement II iz not the
correct explanation of Statement [

(C) Statement I is true but Statement I is false

(D) Statement I is false but Statement II is true
ml:ﬁﬁmﬁrﬁm,zmsm%ﬁwﬁmm@ﬁ?ﬁﬂwﬁaﬁﬁ@m%ﬁr
W%wwmﬁﬁzmmmﬁﬁ(mamjmﬁama
mﬂ:ﬁl@mwﬁqﬁﬁmﬁmwmﬂmqﬁamﬁm?ﬁﬂﬁéﬁﬁm%ﬁ
(A) 97 1 3R %o 1130 9 & 3l %599 11 599 1 9 ot =rey &

(B) m:ﬁtmﬂéﬁm%éﬁmmﬂml,ﬁuﬁm?ﬁ%

(C) =97 199 ¢ &ifes =99 1] 7erg &

D) FWITaEAFTFm I e

T.B.C. : 2024/JA/M 38



67.

Statement I : A company can convert its status from public to private by passing a

special resolution and obtaining approval from the National Company Law
Tribunal (NCLT).

Statement II : Such conversion requires an alteration of the company's Articles of

Association. |

(A) Both Statement I and Statement II are true and Statement I is the correct
explanation of Statement 1

(B) Both Statement I and Statement II are true but Statement II is not the
correct explanation of Statement I |

(C) Statement I is true but Statement 11 is false
(D) Statement [ is falge but Statement I1 is true

FTT L TF O P W i HE i g O e i (vEeE)
R} A Wra O oo feafa = et @ et § 9w wa )

HGF [ ; T8 T8 S0 o0 941 ® G4 % sfaf-a) § agea &1 srevadhal e ¢ |
(A) F97 I i e 11 ST T # ol Fe7 11 F97 1 51 98 =e &

(B) w94 I 3R %97 11 51 ea § Aife e 11 F97 11 w8 sared] 7@ ¢

(C) #9159 & aifeha 5 11 7Ter #

(D) =9 [ e & @ wa L& ©

Shareholder’s wealth maximization is reflected in :

(A) Profit (B) Sales

(C) Market price of shares (D) Book value of shares
VU &1 GUTH &1 SAfewasm o gReied g ¢

(A) «MH (B) fat |
(C) IRl =1 AR [ (D) ¥ A 9% &Y
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69.  Non-Cancellable period in finance lease means a period wherein :

(A) Lessor recovers his total investment through lease rental

(B) Lessor recovers his partial investment through lease rental

(C) Less repayment are involved -

(D)  Lessor recovers his partial investment through down payment by lessee

Tam w2d d 158 03 A7 st 9y 97 s d e

(A) vEZET 397 o Faw =t aue e ferd R oem A sE

(B) W= #94 Hifvveh F7ae =71 99 uge e & megn & e 8

(C) %9 YA nfhe &

(D) WE2EN 397 YT FEm F1 95 v22er grn Sfim e @ e @ s
70.  Financial lease means :

(A) A lease wherein a company which sells an asset, lease back the same asset
from the purchaser

(B) A lease wherein the lessor provides a portion of equity of leased asset’s cost to
lessee and the third party provides the balance of financing

(C) A lease wherein all the risk and reward incidental to an asset are not

transferred to the lessee by a lessor

(D) Transfer ofall the risk and return benefit attach to a property to the lessee as
if he is the purchaser of that asset

fareitg w2 =1 Heea &

(A) = vz fod o st s ol St &, 96 9ufa $o @ arre v oo ¥

(B) T Wz foeH vezmmr veeen i w2l W v wufy # @ 1 e w5 uw e
W WA § 3 AH ge s 5 waer e s .

(C) e ez ford foreft W & 2 it Shifirm i 39 veden aR weder ) weaiafia 78
forg smat ¥

(D) forelt wufa &/ 92 weft Sifam ain fed e ) v2den ) saafe won 349 fs mr sy
Hafa 1 T{ER ¥
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71. Peppercorn payment means :

(A)
(B)
(C)
(D)

Primary period of financial lease

Secondary period of financial lease !
Non-cancellable period of financial lease
Both (A) and (C)

e o T 1 e

(A)
(B)
(C)
D)

72. Cost of additional sources of funds is known as : !

(A)
(&)

ity 722 =1 wufas sEfy
Tarsitg w22 =1 fartas smafy
forefts w22 #t TR-Teg F A oty |
(A) SR (C) T
|
Average cost of capital (B) Marginal cost of cﬂq)itai
Cost of retained earning (D) Weighted average gost of capital

o % wfafiad Gial @1 0Ta F1 el S e i

(A)
(C)

it =1 sfe @ (B) i =1 Hiwi @rTd |
ALHT 1@l T FAE &1 A (D) It =t wifia #Area @

73. Weighted average cost of capital means :

(A)

(B)

(C)

(D)

It is an overall cost of capital on the basis of which capital budgeting proposals
are evaluated '

%12 an overall mangtoal eoet 6F capiéal on the Basis ot whilleabtal budgeting
proposals are evaluated |
It is an overall cost of equity on the basis of which capital budgeting proposals
are evaluated i

It is an overall cost of debt on the basis of which capital budgeting proposals
are evaluated :

it 1 Wit sfea @ & Aaea ®

(A)
(B)
(C)
(D)

7 il =1 5o @ § faes Wmﬁwﬁnmmﬁmmaﬁw%
Zrg Joit & W9y HiE w0 € e s w5 e v 1%%%%
Tg et 1 wum wrm & foae s w0 g At et @ gedaind fan s €
Hﬁmaﬁmmﬁﬁﬂ%wmﬁmﬁﬁnmwﬁmﬁmwﬁ
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74.  Finite series of equal cash flows occurring at regular and equal intervals are known

as:
(A) Perpetuity (B) Annuity due

(C) Deferred payments (D) Annuity

frafem iR e oo 9 2R oS WHE e AT w1 ufiiEa S ) e o g
(A) oA Fe (B) @k At w0

(C) YT Yrmar (D) it

75. Ifthe discount rate is increased, then :
(A) Present value of a future cash flow would decrease
(B) Present value of a future cash flow would increase
(C) Future value of present cash flow would decrease
(D) None of the above
Ife &2 7T FgrE S €, W
(A) wfa™ % Tl Yo% &1 FAHE g6 52 S
(B) wfa= % F<] wame 1S9 e g A
(C) =AM Fha] WaTe 1 Wfas Jod e S
(D) =9d% A | F18 ot 78
76. The effective interest rate and nominal interest rate are equal in case of :
(A) Number of compound is more than 5
(B) Number of compounding is less than 5
(C) Number of compounding is equal to 5
(D) Number of compounding is 1
e 38 TRy et ST X SR ST S X AR §
(A) FUEe #1 uem s ¥ Afys &
(B) FURfEN I HENMSAFAE
(C) =UEfen i H&ms & T 8
D) =uEfen % gem i
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77. Time and interest rates have ... relationship with future value.

(A) Negative (B) Positive
(C) Neutral . (D) Non-linear
REe T E Rt o o - S - &
(A) THIUHHR (B) HHRH®
(C) d=4 (D) TR-T=
78.  Which of the following statements is correct ?
(A) IfPI=0,its NPV >0 (B) IfPl<1,its NPV <0
(C) IfPI>1,its NPV <1 (D) IfPI>1,itsNPV>-1
Frefafan # | S w97 56 7 2
(A) 3f&PI=0,d 9% NPV >0 (B) & PI<1,MEEH NPV <0
(C) FMEPI>1,AHFINPV <1 M) af‘apx}l,ﬁrngpv:--I
79. Incase of project having size digparity, .......ccccciiciainns is superior than ....................
(A) PI, NPV (B) NPV, PI |
(C) PI, IRR (D) IRR,PI
SR T ST A WA & A e | ensrannascenss O NERE |
(A) PI NPV (B) NFV, PI
(C) PI, IRR (D) IRR, PI
80. Incase of project of having unequal ives ......c..coccnniiereen. method gives better results,

(A} Net Prezent Value

(B) Internal Rate of Return

(C) Profitability Index

(D) Equivalent Annualized Net Present Value Method

(A) Y& 509H I

(B) @yt 1 sl o2

(C) wErvwEar YEFHEH

(D) TwgEa At g T Jed v
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82.

83.

........................ is used to find out the acceptability of a project under different

SCeNAarios

(A) Sensitivity Analysis (B) Simulation Analysis

(C) Scenario Analysis (D) DCF break-even sales Analysis
.......................... Tergere =1 3w fafa= ofigedl & wea el oftdiern =1 et 1
aa &M & fere fame o

(A) Hagvie F1 fEven (B) o faversm

(©) e fadm (D) e w-oreds fo fargern

The formula for operating leverage is given as :

(A) Contribution/EBIT (B) EBIT/Contribution
(C) EBIT/EBT (D) EBT/EBIT

S wfiais #1 93 36 7N T T R

(A) R/ (B) el SR
(C) seitengdirand (D) e Eefemgd

Judicious use of leverage is suggested by :

(A) NI approach (B) NOI approach

(C) Traditional approach (D) MM Hypothesis
et & faraagof 3udm =1 gema fem &

(A) WASE gieEshio g (B) wAsheng gfeesm gra
(C) i Fftesm g (D) THUH e g
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84. In Pecking Order theory, first priority is given to : !

(A) Retained earning (B) External equity
(C) Debt (D) Preference share eapital
Y Aty fagia § vee wrafamo € ol €
(A) wfaefE o (B) am il

I
(C) =W = (D) adrgan g it a6

i
85. Gordon model is applicable only if :

(A) Cost of equity, ke is lower than growth rate '
(B) Cost of equity, ke is greater than growth rate
(C) Cost of equity, ke is equal to growth rate

(D) Cost of equity, ke is equal to cost of debt
TR Afsa avft @r) #m & E -

(A) Rt 1 e, ke FEE R AFHE

(B) ﬁfﬁﬂﬁﬁﬁ,hﬁmﬁ#mﬁ

(C) 3Fad 10T, ke famm 213 auen ¥

(D) Eaad #1 A4, ke T F1 @0 & UK B
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87.

Cash discount term 1/10 net 30 means :

(A)
(B)

(C)
(D)

1% discount will be available in case payment is made within 30 days

1% discount will be available in case payment is made within 10 days. Beyond
10 days nao discount will be made available

1% discount will be available in case of credit card payment

1% discount will be available in case payment is made in more than 10 days
but less than 30 days

T T2 AAY 1/10 A2 30 | amvr #

(A)
(B)

(C)
(D)

30 fe7 & e wEE w9 W 1% 1 22 fire

10 f& = et e F713 W 19 #1 92 faertt | 10 & & =+ w2 3vem 78 =
ElCuil '

wise %18 § YR F9 W 1% Ht 92 faerft
10 &=t & srfers wifer 30 fam & = w9 5 o &9 T 1% 1 92 frerht

Delinquency cost means :

(A)

(B)
(C)
(D)

Cost incurred for the maintaining the record of credit sales and collection
thereof

Cost of default by customer
The collection cost incurred in case of delay in payment by a customer

None of the above

et w1 g ®
(A) *fez fawt o 305 gug = et =93 van & foo =t v o

(B)

g g fewiee &t &g

(C) v g1 P # 30 & gme § 8 w1E guen e

D)

I A wE off 7
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88. The difference between actual and expected return is called :

(A) Holding period return (B) Expected return

(C) Absolute return (D) Abnormal return

ardfas® R g i Fd & s A Fa T 8 -

(A) BfeEn srafl amd (B) arifea amosh

(©) gof Ao (D) FrEm= Ayt
89.  Defensive stock is the one which has: '

@A p=1 B) p>1

(C) p<1 D) p>2

fedfra e e s om d:

(A p=1 - B) p>1

© p<1 D p>2

90. The amount paid by the holder to the writer of option is called :

(A) Time value of option (B) Intrinsic value of option
(C) Option premium (D) Strike price
TS G o & S ) [T T e e #
(&) Tarwea w1 W WH (B) fawea =1 siafts ge0
(C) fa=eq vifogm D) WEF 9EH

91. Which of the following is an example of a “derivative” in investment management ?
(A) A Government bond j (B) A Mutual Fund
(C) A Stock option - (D) Areal estate property
irder et *ge " ( Derivative) 1 Freaferfiam 3 & wvren samon # 2
(A) wEHIAEE (B) ™ U8
(C) =IF HAIH D) o TR weE
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92. According to Gresham’s law :
(A) Bad money drives out good money
(B) Good money drives out bad money
(C) Bad money drives out abundant money
(D) Secarce money drives out abundant money
e & a9 % SEn
(A) BRE 31 =5 Hg ) T § wel F I
(B) 275 931 &9 Gl &) 9o A I S ot §
(C) & 31 WL W51 1 To J et e 361 8
(D) THY T T qE ) Her A agt Fee et E
93. Currency swap is a method of :
(A) Hedging against foreign exchange risk
(B) Speculating in foreign exchange
(C) Leverage instrument used by cooperative banks
(D) Mode of payment in international trade
Hel fatmg u= fafy ¥
(A) fadent g Sifem & T=m
(B) fereft gz A Wy e
(C) WEwH! dahi g I9dm fan s aTen SHteH SuE

D) siwiea s i qvae %1
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94. Exposure which arises because of translation of foreign currency items into
domestic currencies while consolidating the accounts of various subsidiaries by the

parent company is known as :
(A) Translation exposure (B) Transaction exposurg
(C) Operating exposure (D) Economic exposure
et o g fa= e Hutdl & i wtn w we e e e 1w
# Yt 0 % FR 39 B A GO A T I E 7
(A) AR WEYH (B) ©H-34 =1 Sfem
(C) T=EmEm AU (D) s sifEm
95. A future contract is underpriced if :
(A) Fair/Theoretical Price > Actual price ’
(B) Fair/Theoretical Price < Actual price
(C) Fair/Theoretical Price = Actual price |
(D) Fair/Theoretical Price > Exercise price f
qferey & EY Y F 90 FH € T8 ¢
(A) =faa/dzios gea > arales 5o
(B) Sfea/dgifos qea < arafas® ged
(C) fem/aifos qed = anafas o
(D) Sfeaaaife 9e0 > s e |
96. In order to determine residential status of a person in India duging the previous
year, for how many days should the person reside in India as per the first basic

condition 7
(A) 50 days or more (B) 182 days or more |
(C) 240 days or more (D) 120 days or more

frreh o & 2 wﬁmmﬁmwmmwmwmmﬁ
S safaa =i fre feli o s | e wied ?

(A) 50 fe= =1 s8R st (B) 1321‘&'-!1113@%1
(C) 240 g7 1 358 s (D) 120 T =1 34 Ao
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97. Income Tax Act of India came into force on which of the following date ?

(A) 1st April; 1934 (B) 1stApril, 1962
(C) 1st April, 1961 (D) 1st April, 1956
IR & ST et Preaferfi o & i it =) e g 2
(A) 1 0, 1934 (B) 131, 1962
(C) 1 &, 1961 (D) 138, 1956

98. What does CBDT stand for ?
(A) Central Bureau of Direct Taxes (B) Citizen Board of Direct Taxes
(C) Central Board of Direct Taxes (D) Civil Bureau of Direct Taxes

Hiaretet = = aaes & ?
(A) 3 T=H T D (B) WeaH & AvE A
(C) 3o v F W (D) wee =T = fafae =0
99.  Ifthe assessee is living in a self-owned house, then House Rent Allowance is
(A) Partially taxable _ (B) Fully exempted
(C) Fully taxable (D) Partially exempted
I i wd f Efra s i ww d, S vem e am &
(A) s TY R F-dmm (B) qvid: FHgaa
(C) quiq: FX-4ryg (D) =ifoF ¥9F FoME
100. Rent Free Accommodation (RFA) given by the employer to an employee is :
(A) Perquisite (B) Allowance
(C) Pension (D) None of these
Frrtan g1 freft wefadt Y foren it aven foen g s (smqw) & ¢
(A) T _ : (B)
©) W - : D) T AT ot 7
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Part-11—B-Business Administration

51. Which of the following is not a method of costing ?

(A) Process Costing (B) Batch Costing

(C) Direct Costing (D) Operating Costing
Freifafiaa 3 & Syt T FHefo = fafa 7@ € 2
(A) w1 ard (B) &= @rmd

(C) wa% & (D) 9itETEa T

59 At the economic ordering quantity level, the following is true :
(A). e ordering podk is minimum
(B) The carrying cost is minimum
(C) The ordering cost is equal to the carrying cost
(D) The purchase price is minimum
anfdfs ey A TR W, Fefafes T @
(A) HTET T T AT =g #
(B) & 51 %! &g <09 ©
(C) ST F @ o WA F T B A §
(D) =fle gFa gFaH §

53. Indirect material costis a part of :

(A) Prime Cost (B) Factory Overhead
(C) Chargeable Expenses (D) Direct Cost
Sy H T W U I E

(A) F9H AT (B)+ haedl Sates

(C) wurd =4 (D) Weas =
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55.

The following tasks are associated with Activity Based Costing system :
I Allocation of costs to products

II. Identification of cost pools

IIT. Identification of cost drivers

IV, Calculation of pool rates

The proper order of the preceding tasks is :

(A) IOL IL, IV, 1 (B) I,1II,III, IV
(C) IILIV,IIL 1 (D) IV, IILIL 1
Friferfan @ nfafafy smnfa s yore @ 92 & -

L 9@l &t @ & sEe

II! &0 98 =1 989

III. @Fm Ao ®i Te9™

IV. - 9@ T4 *1 A

gefadt il wsFmEn

(A) I II IV, I (B) LILIL IV
(C) HILIV,ILI (D) IV, ILILI

When re-ordering level is 200 units, minimum usage is 20 units, minimum lead
time is 5 days, maximum stock is 400 units then re-ordering quantity will be :

(A) 400 units ' (B) 200 units

(C) 300 units (D) 100 units

W LI HIE HA T TR 200 T, TFH I 20 3HEAT ¥, ew oie g s e
HAfirsham =% 400 sTeal & 1 Sramy ity 0 1 [ anf

(A) - 400 zFmEal (B) 200 gt
(C) 300 zehmeal (D) 100 Z=rEal

Charging to a cost center those overheads that result solely for the existence of that
cost center is known as :

(A) Allocation (B) Apportionment
(C) Absorption (D) Allotment

forelt @ g W 3 shaviey F W e 9 g W Y 39w 9 @ afew ® f
aftonfia &0 &, Feema € ¢

(A) FEZT (TEEPYH) (B) wHz=m
(C) stayim (D) 3T (Feredz)
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57. Acost centreis:
(A) The part of the business where all costs are paid to suppliers
(B) A production department where all production costs are aggregated
(C) An area for which costs are accumulated
(D) An area of the business accountable for both costs and Wuaa
TF S #E 6 ¢ |
(A) ST 1 g I e el A 1 afiterdtaii 1 ol < &
(B) T S FANTT SR A I T G H 1
(©) = i Foreh fo I o 1w
(D) IR A T 3R e 2 e e § |
58. When opening stock 50,000; closing stock 40,000; purchases 1,890,000, profit margin
is 16.67% on sales, the sales (in approx) are :

!

(A) 2,40,000 (B) 2,36,000

(C) 2,00,000 (D) 2,44,000 By

ot Fie 93 50,000; T RIF 40,000; 1,90,000 1 W T femt T W S
16.67% &, farsmt (Fs) ¥ {

(A) 2,40,000 (B) 2,36,000 |

(C) 2,00,000 (D) 2,44,000

59. One of the following is not within the scope of Management A-e;:ounting :
(A) Formulation of policies 1
(B) Classification and collection of costs
(C) Planning and co-ordinating the activities of the enterprise
(D) Decision-making on alternative courses of action i
fereerfi 3 A T WA A o w H AE E
(A) iferi =1 FAmfo
(B) TR =1 =TT 3f HIE !
(C) mﬁaﬁtﬁﬁfaﬁiaﬁﬁwmmwm 1
(D) Hrar & dmfeas afw T FoE o , |

80. The P/V ratio of a firm dealing in electrical equipment is 50% and the margin of
safety is 40%. BEP of the firm at a sales volume of T 50,[11].00'0: will be :
(A) T25,00,000 (B) 73500000
(C) T30,00,000 (D) %36,00,000
fergg S0 H T H A 6 BH F PV axanmsn%%amfgmmnﬁu{}%tl
2 50,00,000 F1 farzt w1 7€ wH %1 BEP 21 : i
(A) %25,00,000 (B) ¥35,00,000
(C) %30,00,000 (D) %36,00,000

'!
q
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61.

62.

Which of the following would take place if a company is able to reduce its variable
cost ?

(A) Contribution Margin Increase and Break-Even Point Increase

(B) Contribution Margin Decrease and Break-Even Point Decrease

(C) Contribution Margin Increase and Brea k-Even Point Decrease

(D)  Contribution Margin Decrease and Break-Even Point Increase

afe 1 Ft M?ﬁaﬁﬂmﬁmmﬁﬂmﬁﬁﬁﬂﬁﬂﬁaﬁﬁﬁwm ?

(A) sV wifet 3 s 3o otz o

(B) ¥R wIfSf H weft 3y g ez 1 iy

(C) mﬁﬁﬁmﬁﬁaﬂ?ﬁﬂf—ﬁ?qﬁzﬁﬂ

(D) s et 3 i o - e g

A company requires ¥ 85,00,000 in sales to meet its target net profit. Its
contribution margin is 30% and the fixed costs are 7 15,00,000. What is the target
net profit ?

(A) 710,50,000 (B) %19,50,000

(C) 25,650,000 (D) T 35,00,000

T FIHI B AT A Y[S Y F G HE D Fom o 7 85,00,000 31 AT B
T AR AN 30% 3 fafvem @ 2.15,00,000 &) s A Iy ?

(A) 10,50,000 (B) ¥19,50,000
(C) T25,50,000 ' (D) T35,00,000
Securities premium cannot be BPDHAE... .. conserissincsins 2
(A) For paying dividends to members

(B) For issuing bonus shares to members

(C) For writing off preliminary expenses of the company
(D) For writing off discount on issue of debentures

(A) W= F e T 3

(B) wewdl &1 9F® 91 Wl &7 o

(C) w?ﬁmﬁﬁﬁﬂ@@ﬁﬁmﬁﬁﬂq

(D) %ﬁrmﬂmﬁm@aﬁa@éaﬁﬁmﬁm
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64.

If amalgamation is in the ... , the General Reserve or Profit and Loss
A/e balance will not be shown in the balance sheet. |
(A) Form of merger (B) Form of purchase
(C) Net assets method (D) Consideration method
B s S H% @ wrr ford T e iR ot E 9w e v 1@
Femran s |
(A) Toem =1 =%y (B) w&{E 1 W
(C) ¥% Gyfv fafy (D) fa=m fafy
The objective of auditor is :
(A) To express opinion on financial statements
(B) To detect fraud and error
(C) Tocommunicate inefficiencies in internal control to the management
(D) All of the above
ST F1 R T :
(A) fTaia faaol W g = T
(B) wrEmaEl SR Ffe %1 9a & = fag
(C) araf frgsm 5 semmsii % =1t 3 wavA F gi=a F
(D) IudeEa gt
SRR AL TH s i) is NOT an auditor’s responsibility.

(i) Giving an opinion as to their truth and fairness
(it) Selecting and applying accounting policies

(iti) Gathering evidence to support the opinion given
{iv) Planning and conducting the audit

(A) (i) and (iii) (B) (i)

(C) (iz)and (i) (D) (i) and (iv)
e O] WO HI G TR R

() IR we R e W TE A

(i) FrEi At =9 O AR I A HE

(i) <t TE T & wAdA | e R

(ip) e =1 T M SR I6H I FE

@A) GG (B) (i)

(C) i) IR (iv) (D) (iid) 3R (iv)
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67. Statement 1 : Auditor should perform compliance procedures to determine
nature, timing and extent of substantive procedures.

Statement 2 : Auditor should perform substantive procedures to determme the
nature, timing and extent of compliance procedures.

(A) Only Statement 1 is true
(B) Only Statement 2 is true
(C) Both the Statements are true
(D) None of the statement is true

HIT 1 : A THEF I WEws w v, w9 ol i fuifa w0 @ fon s
wiseand Freqrfee st =fed |

I 2 ; TN TG F ST Aihaisi H1 gHih, Wdﬂ?ﬂmﬁﬂfﬁama’imaﬂ
wfwant fronfam st wfed )

(A) S FuT 16 ¥
(B) HA@FUT2TAE
(C) SFiFITEAE
(D) = oft o 9 T &
68.  Which of the following are the functions of a Code of Ethics ?

(1) It can express a shared commitment on the part of a professional society’s
members to strive to satisfy certain ethical standards and principles

(2) It can help foster an environment in which ethical behavior is the norm

(3) It can serve as a guide or reminder in specific situations

(4) A code can be a valuable academic and educational legacy for an organization

Which of the following is correct ?

(A) (1)and (3) (B) (1),(2)and(3)

(C) (1),(2),(3)and(4) (D) (1)and(2)

Fefafea A @@ smer sfea S 4 § 7

(1) ¥ %o e 7 o fogil 91 70 F15 51 798 $09 % 90 & 9E 999 3
Hewl 1 SR F Wy wfeesw SE wEEA S

(2) 98 T8 AaE ® 9gal 34 4 Heg 1 A ¢ (90 Afas% =reen ey )

(3) =% fafer feafadi § o Arigyi® 1 STERF & &9 § 0 FHH €

(4) UF FE T Gre & e us Hyegars Dafrs 27 s froaa @ wea

frefafer A asmmad & 2
(A (1) #R(3) (B) (1),(2)M(3)
() (1),(2), (3) 3R (4) _ (D) (1)@fm(2)
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69. What does the ‘triple bottom line” concept encompass in green governance ?
(A) Profit, executive compensation and taxes
(B) - Profit, people and planet
(C) Profit, shareholders and government regulations
(D) Profit, marketing and sales
wfta wmee § ' fue aten wA " sreron & w7 wifine ® 2
(A) T, TR gAES 3
(B) @, @ @i 7w
(C) T, SeTER 3R JEE e
(D) &, famure sin fast

70. 'Which corporate governance theory emphasizes the importance of aligning the

interests of managers and shareholders to maximize firm value ?

(A) Stewardship theory (B) Agency thoory

(C) Stakeholder theory (D) Resource dapenden%& theory
mmmmwﬁwﬁmw % foru wausi afﬂi'm’wr{ﬁ#ﬁﬁiaﬁ
G 11 % o WIREmE ?

(4) wweriv fagia (B) il fagrd

(C) Teaurs fagm (D) & ffen fogm
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71

72.

73.

Which committee is responsible for assessing and mitigating potential risks faced
by the eompany ?

(A)  Audit Committee

(B) Compliance Committee

(C) Risk Management Committee

(D) Ethics Committee

Sl Wil 90 F A o 9@ duifas shfad w1 s w0 il R F e @ g
foiem & 2

(A) o wiren wfafa

(B) e |fify

(C) ifem yay iufa

(D) =memafEta

How many dimensions of CSR are defined by Carroll ?

(A) 6 (B) 5
©) 4 D) 3
e 3 Hromem  fr s afonfa el 2
(A) 6 (B) 5
(C) 4 D) 3

What is the Sarbanes-Oxley Act primarily concerned with regarding corporate

governance 7

(A) Executive compensation (B) Financial reporting and disclosure
(C) Employee benefits ' (D) Environmental sustainability
U Yo & Hay # gaag- st sifufam geg w9 3§ fad gafm & 2

(A) FHEHW gaE (B) favira fodifdn sin vt

(C) W=l =Y (D) wafaefiy feema
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74. The framewotk for establishing good corporate governance and a'q:countah:ilitj’ was

Originally setup by : |

(A) Malegam committee (B) Narasinﬂmmmmmiﬂaé

(C) Cadbury committee (D) Thornton cummitt'a_il_:

e e e Sl SR v # fery i e w9 & e = o
(A) =& A E (B) eiHes |infd gr {

(C) et ufufagr D) sHmufign

75. What is the purpose of establishing a CSR committee ?
(A) To handle shareholder grievances |
(B) To monitor environmental impact assessments |
(C) To integrate social and environmental concerns into businilkas operations
(D) To minimize regulatory oversight .
e ofafa = e FRyFFNE ? |
(A) IrRYTE forrE #) e |
(B) TAGToitg WHIe Sieher i R & i
(C) =AEEaS gaed | A mmmmww
(D) Taframs e w5 560 & oo |

76. What is the primary goal of rotating auditors periodically ? :
(A) To minimize financial disclosures {
(B) Tomaximize shareholder returns i
(C) To enhance audit quality and independence 1
(D} To reduce corporate transparency |
Sran gl T TEE-TEY W YHE @ nafts asm e g ? :
(&) Fordra e 7w W fo |
(B) Irrans fed 9 s 07 F fog
(C) & Wi a3 sl F1 agE |
(D) whiRe TR #1 w8 50§ fy |
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77.  What is the threshold for companies to constitute a Corporate Social Responsibility
(CS_R] Committee under the Companies Act, 2013 ?

(A) Companies with a net worth of T 500 crore or mare, or turnover of T 1,000
crore or more, or net profit of T 5 erore or more
(B) Companies with a net worth of T 1,000 crore or more, or turnover of € 500 crore

or more, or net profit of 5 erore or more

(C) Companies with a net worth of ¥ 5 crore or more, or turnover of 500 crore or

more, or net profit of ¥ 1,000 crore or more

(D) Companies with a net worth of ¥ 1 crore or more, or turnover of ¥ 5 crore or

more, or net profit of T 500 erore or more

HuAt safefam, 2013 % dea wutl & fau iz amifss sowfae (deaer) afef i
FA B W F R ?

(A) E wufat Tl =@ Fufa T 500 Fig a1 afus &, @ 24 2 1,000 Fi8 71 dfvs
T, WS AY TS5 HOS T A §

(B) et sufaf foment wer wufa € 1,000 Fire a1 sifus &, 71 edeian T 500 Fie =1 s
e R SR e P

(C) et suf-af fomat wo wufa T 5 Fs @1 a1 &, 71 dsiae T 500 #4371 ifus &, 3
& &4 ¥ 1,000 FiE T i E

(D) sl sl g ot 1 ste o afus d b issts aafs o
IE T4 500 Firg W T &
78.  Which of the following is NOT a type of audit opinion that auditors can issue ?
(A) Unqualified opinion (B) Qualified opinion
(C) Adverse opinion (D)  Fraudulent opinion
frrefafes 3 S sifez 19 1w vr 7 & i afeed sl v 8 2
(A) s (B) dra1a
() frem @) Feg 1™
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76.  In auditing, what does the term “internal control” refer to 7
(A) Management’s responsibility for financial statements
(B) Policies and procedures designed to provide reasonable assuﬁlmca
(C) The audit committee’s oversight of financial mpuﬂiné
(D) External auditors’ evaluation of financial statements
siffefin 4, siafer fresm " v =1 aeed 0 ? |
(A) s faaror % o weive =1 fomierd
(B) 3 syErE wer H b fa feeng w wd ffeal she wfeand
(C) forera frdifdn =it Sramadan wfsfa =1 et |
(D) et s e g farda e e 1

80. What is the primary objective of a forensic audit ?
(A) To assess internal controls
(B) Toevaluate financial statements
(C) To identify potential fraud or misconduct
(D) To ensure compliance with tax regulations
wtfm sifez 71 wofes Rea A E 2 |
(A) oaftn fFrs %1 SR ST
(B) farfta famwvil #1 gegis HT0
(C) Hwifas drang=l 91 FETER & e Sl

(D) = Pl 1 srque gihfvea 3
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81.  Which SEBI guideline ensures that listed companies disclose all material
information promptly ?
(A)  Corporate Social Responsibility (CSR)
(B) Insider Trading Regulations
(C) Listing Obliéatinns and Disclosure Requirements (LODR)
(D) Takeover Code el
ﬁmmhﬁ%ﬁ@ﬁaﬁm%hmwwwwmm
H ?
(A) =itz grfos st (dogem)
(B) #Haw+t = fafm
(C) Tafn 3 siR v smavasan? (Tesidism)

(D)  afermrem wfaa
82. According to Carroll’s CSR Pyramid, which level represents the discretionary
responsibilities of a company ?
(A) Economic responsibilities (B) Legal responsibilities
(C) Ethical responsibilities (D)  Philanthropie responsibilities

0 & Hegem frfre F sgan, $Fm =R el s w e e &
wiafafem & 2 .

(A) anfefs Fasefoat (B) =i Forsyefial
(€) A fordrefiat (D) et forerfiat
83. What is a common cause of corporate failures related to corporate governance ?
(A) Excessive philanthropic activities
(B) Inadequate internal controls
. (C)  Overly stringent regulatory compliance
(D) Excessive shareholder activism
F9ie e | Hafiw wrifte fawemet #1 v g sre 2
(A) 7ok FirgeRr nfafafit
(B) srvara swafies fesm
(C) afys Far faframs saem
(D) et YT gfFaa
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84,  Which CSR model advocates for businesses to consider long-term sustainability and
environmental impact in their operations ?
(A) Shared Value model (B) Ethical model
(C) Legal Camplmnc'e model (D) Economic model

mmmmmﬁﬁﬁmﬁﬁwmqumm
o= F13 S ToheT FLT & 7

(A) I e WS (B) Ao Ares
(C) I A Aed (D) anfefs Aiew
BB, il ra s A Al RR R is an electronic document used to provide ownership of a
public key.
(A) Digital Signature (B) Digital Certificate
(C) Firewall (D) Public Key
................................. T TR TR & foram SwE et gl w1 e
wEH HE & ferg T s #)
(A) el 1 TEAR B) fefszsr wamomTs
(C) FERET (D) Wi it
86.  .ivvreecvssrsiissiiennn. 18 the process of searching for prospective employee and

stimulating them to apply for the job in the organization.

(A) Recruitment  (B) Selection

(C) Manpower Planning (D) Staffing

...................... wreft s = g ey o 5w et @ f e w0 @
fee Afta w33 =t Wi ¢

(A) sl (B) =

(C) wwiEe Arern (D) =%
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87. Who defines, “Organisational Behaviour is directly related with the
understanding, prediction and control of the human behaviour ?

(A) Fred Luthans (B) Keith Davis and Newstrom

(C) Stephen P. Robins (D) None of these

1 wftafed &t 2, ' e SrEer W nee sEEn w5 wey, AfasmEt st S 3
Hafa & 7"

(A) HEF4H (B) 4 EfEg 3R ==m

(C) i, W D) TR

88.  In which era, Taylor started to find out ‘one best way of doing thing’ based on time
and motion studies ?

(A) Social Respnnaibﬂity Era (B) Scientific Manageﬁ.:ént Era
(C) Trade Union Movement Era (D) Behavioural Science Era
fore gn o 2o 3 e oin i stemma # amvr W et = w0 = U wate wier

e F e ?
(A) | ST g (B) Aafeh wavA 7
(€) Z& 7T SR 40 (D) = fagm g

89.  Which of the following is not an internal source for Recruitment ?
(A) Transfer (B) Promotion
(C) Unsolicited Appﬁcanté - (D)) Employee Referrals
Frefafaa 3 8 # v % fou siafs g s 2
(A) TG : B) &
(C) 3IF=Te TETH (D) =R B

90. The other name for the Job Rotation for training employees is :
(A) Refresher Training (B) Vestibule Training
(C) Orientation Training (D) Cross Training
FHaidl =1 wfem 33 &g 9a vE Fgmuam E
(A) YAv=Al wigre (B) WIS wigmerm
(C) sfufamarg wfiem (D) wwfa wioem
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91.  Match the following :

Column ‘A’ Culumn%"ﬂ'

(1) Ranking Method (a) Emanher:WMmseﬁea
of factors |

(2) Classification Method (6) Points are assign’_&d to each factor
prioritizing each Ifﬂctrur in order of
importance

(3) Factor comparison Method (e) -ApredetErminadmhuhernfjubgmupa
are established |

(4) Point Method (d) Jobs are arrangmi_ from highest to

lowest on the basis of value or merit

(1) (@2 3 (4

(A) (e) fa) (b) (d)
(B) (d) fe) (b) (a)
Cy b (@ (@ ()

O © @ ® @ }
frefataa %1 faem =9
wHied ‘A’ m'lJ
1) e wsh (@) Vo @ H ] AE § TR
Fag fEa S e
(2) Fite fafy (b) w%mﬂuﬁﬁlmaﬁrmﬂﬁ:ﬁm
% gu siw Ry wR §
(3) e qo faf () T wE = e e v &
@) fagfaf (d) T AT ST AT ) S

R foregarm oo AR e st ¥
M @ @ @ |

(A) (e f(a) ) (@)

(B) d) () (b)) (a) ‘

(C)y @) (&) (€ (d)

D) (@ (@ @) (a)
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92. What is the way to measure in financial terms, the effectiveness of personnel

management activities and the use of people in an organization ?
(A) Human Resource Accounting  (B) Personal Resource Accounting
(C) Assessment Centre (D) Field Review Method

Tl wmram 4 wftier weivrm nfafafirdt =1 wumreiem sl @il  swim ) fafa gfe 3 am

W T = ?
(A) THE 9HYH SEHT (B) =Ifeamma GarH e
(C) e+ 5% (D) wwiee wten fafy

93.  The application of Linear programming make use of the following assumptions :
(i) Linearity
(i) Certain and constant
(iti) Negative variables
(A) (i), (i0), (7ii) ave correct (B) Only (i) is correct
(@) ()G, Gid)areincorrect. (D) (3), (i) are correct
e snfem 1 swEn freatafes ar=met = s s s
(i) fEEm
(i) Ffem sin fem
(fii) TS =T
(A) (@), Gif), (s wéH & (B) #ad (i) e

(C) (), (i), (i) T § (D) ), ) =T
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94, The following are the methods of Integer Programming :
(i) Linear Programming
(i) Cutting plane method
(¢1) Search method
(fv) Goal Programming
(A) (i), (i0), (iii) and (iv) are correct  (B) Only (i), (iv) are correct

(C) Only (ii), (jii) are correct D) (i), (i), (iii) and (i) all are incorrect
st gt =t fafia! freafafen &
(i) fa® dmfEn
(i) Hae FEA =i faf
i) @ fafy
(fv) &3 FET ,
(A) (@), Gid), (i) 3R (o) THE (B) #ae(i), (i) WEE
(©) e (id), (idi) W & (D) ), (i), (i) 3 (i) ot e
95. Linear Programming is @ .......coveerenssrssersranes technique, which_i;];!. used for allocating
limited resources to a number of demands in an optimal manner.
(A) Mathematical (B) Scientific
(C) Logical (D) Complex
(SR E 81712 1 2 S AhAT® ¢, foree Sgdm difaa sanet =1 =3 6l
fere gweam aite | atEfen w3 & o faran wman 1 !
(A) fordy (B) ST
(C) e (D) wifes
96.  The unbalanced transportation problem is converted to balanced problem with the
help of :
(A) Dummy Source (B) Some Penalty
(C) Vacant cell (D) Modified Diatﬁhuﬁon
! aTaa A Sriqfe TEe e S S T § uiatia fm w2
(A) =HFE (B) HBIHM |
(C) Fed=m (D) Gitfem faarom
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97.

98.

99.

100.

In decision theory, if the decision is not optimal, the decisions are called :

(A) Assignment theory (B) Transportation theory

(C) Game theory (D) Linear Programming theory
foof fergia 3, =g fofa geam 7@ €, @ Fofa Feem €

(A) sETHe fagia (B) witae fegia

(€) @& firgia D) e wmfm fagia

The trade theory of Absolute Advantage was coined by :

(A) Adam Smith (B) David Ricardo

(C) Eli Heckscher and Bertil Ohlin (D) Raymond Vernon

e = =1 =R Tega e g/ e T a7

(A) uzufmy (B) Zfas st

(C) welt wn i =fde sefam (D) WEEEH

When a company adopts the strategy of recruiting the most suitable persons for the
positions available in it, irrespective of their nationalities, it iscalled ...

(A) Polycentric Approach (B) Geocentric Approach
(C) Ethnocentric Approach (D) Regiocentric Approach
@ ST ael Ivered v # o el IvgE =t ), 9 e o g o
wedl FEA FH TUETS ST %_, Y e poe S ey, w8 AR
(A) =gz gfzmm (B) yehfaa giteso

(C) wria @fEa gfesm (D) s gfesm
Under what circumstances is IGST payable for a supply ?

(A) Interstate supply (B) Intra-state supply

(C) Both (A) and (B) (D) None ofthese

ot sl = fore smésfmet far offeafivdi A 2 % 2

(A) RO S (B) S Sfd

(C) (A) 3 (B)SHI (D) &7 4 =1E e
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51.

Part-1I—C-Economics

corresponding classification in Column B :

(#)

(#2)
(i)

(iv)

(Al
(B)
(C)
(D)

Column ‘A’
Factories located close to an
expanding factory obtaining
inputs at lower or discounted
prices
Pollution, traffic in local areas
Discounts from advertising
agencies and transportation
companies due to large scale
advertising and bulk production
Exhaustion or limited availability (d)
of factors of production
(0 @) GE) ()
€) @) (@ )
) @ &) (a)
(@ @) () (d)
© @ (@ (&)

()

(b)
(e)

Match the type of economies/diseconomies of scale from Gnluﬂén A with their

Column ‘B’
Internal economy of scale
|

|
Internal diseconomy of scale
External economy of scale

External diseconom uf’ scale

i

wfed ‘A’ 4 TuR &t mﬁamﬁfm—aﬁmmaﬁ#mﬁmwﬁ'ﬁmmﬁm
i & Yy foems |99 ¢

(&)

(i)
(i)

(zv)

(A)
(B)
(C)
(D)

TB.C. : 2024/JA/]

& ‘A
w41 e HiEd T W
T qrelt famn Seed & TR
Teom Faeft
T &A1 | Weul, JrrEr
faram Tl | g2 i g
FHuffd & FHm 78 Jur 5 fagr
3 4 IeTEA
e & H] &1 gHEe 9 HiiEd  (d)
EREoG)

{a)

(&)
(e)

() (o () ()
e) ) f(a) (d)
e ) () (a)
(@) (B) () (d)
) () la) (b)
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52.  Which of the following statements is TRUE in relation to the Long Run Equilibrium
under Perfect Competition ?

(A) In the long run, every firm will earn the same moderate level of profit
(B) The long run average cost = short run average cost when in equilibrium
(C) Marginal revenue > marginal cost when in equilibrium

(D) Many firms will try to enter the market when in equilibrium

ol whtres = a ST Sqor & Say § Prafafea § @ Sm s e 2
(A) <reiafy &, yols wH THR 9 W9 e oty

(B) <reered 2iea oA = Waed § 89 W AeuEea sied s

(C) Hreia Tea > HHid A 9| Haed 5 8

(D) Tiger =+ feufa 3§ % Fubral wmr & Wi S0 o v w6

53. Select the correct option based on the following statements relating to the Ricardian
Theory of Rent :

() Ricardo stated, “Rent is the portion of the produce of the earth which is paid to
landlord for the use of the original and indestructible powers of the soil.”

(II) The theory assumes that the supply of land is perfectly inelastic, that land
varies in quality, and that the law of diminishing returns is active

(III) The theory is also known as ‘the differential theory of rent’ as more fertile land
begets more rent with ‘marginal land’ bearing zero rent.

(A) Statements (I), (I1) and (III) are true

(B) Statements (I) and (I1) are true while statement (I11) is false

(C) Statements (II) and (ITI) are true, while statement (1) is false

(D) Statement (I) and (ITT) are true, while statement (IT) is false
ﬁmﬁaﬁwﬁmﬂmﬂﬁmﬁaﬁﬁwﬁa} AR I TE faaen =1 997 FIfed

M ﬁmﬁ%m“wqmﬁaﬂmmaﬁmhﬁmﬁﬁzﬁﬁ@mm
vifsal % 9 & fae e e s g

(ID) foagim o & & af =t srgfd o o @ Semen &, i e 3 fa=m 2, 2 wes
wiawe =1 frag wfea &)

(IIT) ¥4 fagim #1 ‘& = faves fagia' & =0 F off smn s & it sifvs sooms gfy
AR TR 9= HIl & F=te HiH[ 45 W g T w

(A) e (1), (II) 3R (I1D) 9 §

(B) 9 (1) iR (IT) 7 & vaf® %97 (111) 7o &

(C) eA (ID) 3R (1) 5 %, et 99 (1) 7o &

(D) =9A (1) W (110) ¥ &, safs w94 (11) 7650 &
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54. Which of the following statements is TRUE in relation to Market Failure ?

(A) Government intervention may help remedy market fmlu.rﬁ, and hEl:I.CE, the
term ‘market failure’ is limited to market economies, and r.-":annot be used to
describe imperfections from government action |

(B) Market failure coincides with a failure or fall in ‘market pmmar’

{C) Pollution can be a cause of market failure .

(D) Poverty is a potential cause of market failures

o farreran & Hay # frefefed 3 @ SR F4T99 8 7

(A) mrﬁm%uﬁmﬁﬁmaﬁgmﬁﬁmﬁaaﬁhémm,‘m
m‘mwmﬁﬁﬁmteﬁtmma%mﬁmﬁﬁ
aTelt @il 1 avi W % foe 76 fam o e &

(B) =R T fercmern ‘AT 1 it # oo o ez 3 e e ¥

(C) UgHY AR 1 fawem =1 70 8§96 §

(D) T A e w5 T g e
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55. Match the characteristics from Column ‘A’ with their corresponding effects in
Column B’ :

Column ‘A’ Column ‘B’
(f) Itimplies an impact on consumption (@) Income effect
patterns due to changes in the
relative prices of goods/services
(ti) It is always non-positive (b) Substitution effect
{fiz) 1t may be positive or negative
(fv) It eauses the budget line to
become flatter
(@) G G (w)
(A) (&) b)) (B) (a)
(B) (a) (a) (b)) (&)
(C) (b) (b)) (@) (b)
D (a) &) (b)) (a)
et ‘A’ =T faTamat #1 Ffem B | 39 T v | frem 9199

e ‘A’ Hie| ‘B’
(i) ATy e/ Aee R e A (@) &8 99E
uftada & o sHE AeTd ST
WRIE
(if) T% EEN AT A € (b) wfaEr wuE

(iii) T TEFRHE T7 THUHF 8 T
(iv) TER =N 1@ w92 8 I T
0 G G (v
(A) B &) B (a
(B) f{a) (a) .(B) (&)
@ ® O @ ©®
M (@ G @& (@
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56.  The price elasticity of demand for a firm’s products is 2.0. The curtent selling price
:s 7 60. If the firm wishes to increase sales by 10%, what should b? the new selling

price 7 |
(A) T 66 (B) Th4 |
(C) T63 (D) THT

foprelt o 5 e = o ) wa e 2.0 § 1 A e e 260 B q?!‘amdfaaaﬁ 10%
%1 gfg @ = &, @ 7 fowa yea F e =l 2 |
(A) 66 (B) 54
©) 263 ™) T57 |
57. Which of the following is NOT a limitation of the traditional GDF concept ?
(A) It fails to account for various non-monetary activities sunh;?as volunteerism,
home and care-based work, child care ete. 1'
(B) It is a complex measure lacking in definitional standardization making it
difficult to aggregate and compare across time and regions |
(C) It not only ignores the costs associated with environmental degradation and
resource depletion, but includes remedial costs as productive activities
(D) It fails to provide a comprehensive view of development inaiuding social and
economic inequalities, the social impact of development m.
et 3 & e e S s e 2 |
(&) e Fafir= T it S8 wE, SR S-S S, e 2
anfe = femma 23 # farel wan @ | |
(B) Fe U wee w9 ¥ fod mitars s 1 s §, e 68w ol 4t @
YR 9T T HTAT AR o1 H FicA 8 ol ¢ |
(C) T%+ Haet varaTvi free A gamem #1 FH & 1 AT F THHE F ¢, qeh
e it < = & SR A A e
(D) g% | 3 el smEmmas, fawm & Fmfss waE 2 A fows :1 7
= gfewm A e | fawe !
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58.

89.

Calculate National Income from the following information (figures in Z lakh crore) :
(#)  Private final consumption expenditure = 110

(i) Government final consumption expenditure = 30

(iif) Net domestic capital formation = 15

(v} Netexports=-1

(v) Net factor income from abroad = 1

(vi) Net indirect tax = 2

(A) 155 (B) 153

(C) 187 (D) 159

frefafan sert § T o %1 T it (AteE T e w0 )
() it sifem soim =@ = 110

(i) TR F1 HGH ITHT =G = 30

(i) Y& we] goit Fmfon = 15

(iv) . 1% Frafa =1

(v) RvIEFFAE=1

(i) & FTEAIFT=2

(A) 155 (B) 153

(C) 157 M 159

Given that MPC is the marginal propensity to consume, which of the following is
the correct expression of the ‘Investment multiplier’ propounded by John Maynard

Keynes ?
(A) 1/1+MPC) (B) 1+ 1/41-MPC)
(C) 1+ 141+ MPC) (D) 141 -MPC)

o @R U i MPC 398 0 =t i wafi &, Freforfes & & 2 it 39 @it gm0
wfiifa Frdve T = W@ R € 2

(A) 141+ MPC) (B) 1+ 1/(1-MPC)

(C) 1+ 141+ MPC) (D) 141 -MPC)
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60.  Which of the following statements is FALSE regarding the Mundell-Fleming
mode] ?

(A)

(B)

(C)
(D)

i
The model studies the implications of capital mobility undm; fixed or flexible
exchange rate regimes in a small open economy

Under the floating exchange rates, only monetary policy can iln.fluenm income
while under the fixed exchange rate, only fiscal policy can 1|.‘.‘;:E|ueuoe income
It assumes that the price level at home and abroad vary significantly

The model shows that the ability of monetary and fiscal p&hey to influence
aggregate income depends on the exchange rate mechanis

Hea-wifh Aied & day § frefafan S S s em § 2

(A)

(B)

(C)
(D)

Tz Jizd OF 9 gel Hmﬂﬁﬁaﬁmaﬁﬁlﬁﬁwm;mﬁ%mtﬁl
eyl & fafeard =1 s S & |

weifen fafms =il & oea, fae difgs Afa @ mﬁmmmtmw
farfira 1 % e, mm%ﬁmwmmmﬁ

IE 91 56 291 o fadw & e s 6 S e |

nﬁa@ww%ﬁwmﬁumﬁawﬁ%ﬁq%aﬂwﬁmﬂﬁaﬁ
wo e A s

61.  Which among the following is a fiscal policy measure for mntmll.i%tg inflation ?

(A)
(B)
(C)
(D)

(A)
(B)
(C)
(D)

T.B.C. : 2024/JAMIT 75

i 1 Fordfir w5 3 ferg, Freafeian 3 & e Tom A s d 2
HAW Y[eF FH B ﬂ
|
|
l
|

Redueing import duties

Price and wage controls l
Adopting a fixed or pegged exchange rate regime
None of the above

Heq AR da7 e
= Tafesa a1 st v oty g =Een #) s
Iqdaa | | HE T



62. Select the correct option based on the following statements relating to the 1991

aconomic reforms :
(I)  The reforms led to a significant rise in FDI inflows, however these have not
led to spillover benefits inexport activity of manufacturers

(II) The reforms have increased GDP growth and improved social indicators

without putting pressure on natural resources

(III) The agricultural sector has lagged in the post-reform growth and has led to

massive shifting of labour away from agriculture
(A) Statements (), (I) and (III) are true
(B) Statements (I} and (II) are true while statement (I11) is false
(C) Statements (I) and (III) are true, while statement (II) is false
(D) Statement (I) is true, while statements (IT) and (II1) are false
1991 & aTe® GURI | Fafee (e F9+ & R T He famey 1 547 it
M Judl ® Fuw wrEend var § e 3 g, i e Fems # el
Tfafafy & w8 emw &l g |
(II) |qurl ¥ wepfas ganee W e 2@ o 9% 9t 30r &1 gfe # g3fe =1 ¢ @ir
arfer Gahae o gur & g
(D) FH v gma AR F gis i st s TR s R FH g
T T B |
(A) =g (1), (1) 3R (D) 7= &
(B) = (1) i (1) w1 & s e (110) e &
(C) F9 (1) &l (111) & §, sfE Faa (1) T &
(D) =9 (1) T &, St &9 (1) 2 (1) e §
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63. Which of the following statements is FALSE in relation to the Arthashastra by

Kautilya ? !

(A) The king should not actively involve himself in the economic development of
the kingdom, and should delegate these tasks to advisors

(B) The taxation system should be characterized by 'nert_ainti'i” of time, rate and
mode |

(C) The objective of economic development is the welfare of tl*.e people

(D) Economic prosperity is contingent upon law, order and national security

e g oo & i Frffim 8 v o S 2

(A) wﬂmﬁmﬁmﬁmmﬂmﬁwwmﬁmﬂﬁ
TEmEETT F 6 2 =i

(B) S o = gug, < 3 ws w1 fafvaa’ Wﬁﬁﬂfﬁlﬁmwﬁiﬂ

(C) anfde T =1 3Ry =l &1 Foam & |

(D) sl wafa *riA, saas 3R g g W i |

64. The past decades have seen rising income inequality become & defining feature of
the Indian economy. Which of the following measures can hdF correct this rising
inequality ? |
(A) Altering the tax system to differentiate between incu_:ﬁe from capital and

income from labour
(B) Improving agricultural intensity and diversity through sustainable and
market-oriented agricultural practices |

(C) Introducing redistributive policies where it is not possible to correct market
imba]gnces, market power concentration, crunyism‘i and rent-seeking

behaviour
(D) All of the above

ﬁﬁmﬁmmmmmiﬁwﬂﬁmﬁmm%%t
frpafefaa & | #1761 39 36 741 AT B 8% FTA H Heg HL el ?

(A) ot F o1 it 5™ @ 3 S wie s HT B o F gone & dEerE
(B) mmmrﬁaﬁnﬁﬁwﬂﬁﬁw#ﬁﬁﬁwﬁ@mm
(C) Tmﬁﬁﬁmqﬁwﬁwwwm%@?ﬂwmm

i3 318 =asR 1 9% HT HYE A6 §
(D) s wsft |
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65.  The Indian economy is facing a serious youth unemployment challﬁngle, especially
among females. Which among the following is unlikely to be, or NOT, a reason for
this ? |
(A) Lack of relevant labour market skills among youth
(B) The unwillingness of youth to migrate to urban areas (which have job
surpluses) away from rural areas (which are facing job shortages)

(C) Youth facing stiff competition in the labour markets from younger peers and
experienced adults

(D) Mismatch in the growth of higher education and the economy’s ability to create
enough jobs for the educated class of youth entering the labour markets

ety Aeferaen gane, favrst afgensd F e # sie En w

Frefefes § & S saw e en Ft dumEe - &, @ w8 2

(A) =Sl § wrfTF 51 AR P S |

(B) Fasfi =% omdior &t (S el w1 =l w6 e w @ ) g ed A5 (Fed Fed
1 Afywa &) 1 3 TETT F9 # A

(C) Fmsfi =1 5 =R § e Wiyt o st st | w2t wfret =1 am e v
wE

(D) 39 foen % o v sm Ao § v@w 0 9@ gansi & fafa = & fom waia
Frerfat T F Y sreforaan #Y g | A0

T.B.C. : 2024/JA/11 78



66.

67.

SMEs are the backbone of the Indian economy. Which amning the following

statements is TRUE regarding SMEs in India ?

(A) Indian SMEs contribute only 25% of the nation’s mduntmpl production and
exports |

(B) Various schemes in recent decades have successfully eliminated infrastructural
hurdles faced by SMEs and simplified procedures for acmsamg credit

(C) In light of rapid globalization leading to stiff competition, r.ha importance of
the Indian SME sector in economic development has decreased

(D) Employing nearly 40% of the nation’s workforce, the SI&IE.mturis the second
largest employer in India after agriculture !

THUHE WA sdeaaear & g § Wﬁ@@éi‘mﬁﬁﬂfﬂhﬁﬁﬁﬁww

g ?

(A) HRHTE THOE TN % i IR i fafa § faa 25%&\1@@:&%

(B) wrt & gy 1 fafu= dremnedl 3 qaued & 9ma o arelt glEnTd aienE s aneares
AT F e & it o ura w0 F1 ufEmAe ) we w9 R E

(©) g dydran & wR0 FE vyl & SR, anfdw fawm | ﬂf&ﬂﬂﬂ:ﬂ@%‘ &
wEE wH B T

(D) 2% TN 40% HTdEE i TSR 27 e THLE %ﬂ?ﬁ%iﬁmﬁ{ﬂﬂm
=g e & |

........................ refers to deveinpment measured by financial progress, the standard

of living, and economic well-being, including both qualitaﬁhivﬂ aspects and

quantitative aspects. . |

(A) Sustainable development (B) Growth

(C) Capitalism (D) Economic development
........................... =1 v farsfra wfe, sfte e Sl snfefer s gro s e fasr
ot TomeeR 3i ATATCTER ST TEe] WS § | '

(A) Hod faer (B) fa=wm |

(C) s (D) 0¥ famma
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68.

69.

The sudden development of an I'T hub in Bengaluru has led to immense ecological
and infrastructural strain on the city and further, with labour migrating
significantly to Bengaluru, the neighbouring areas which remain dependent on
agriculture have economically fallen behind. This is an example of which economic
effect discussed by Gunnar Myrdal ?

(A) Backwash effect (B) Spread effect

() Income effect (D) None of these

S U U R 74 ST (A W e m ure mitftae @i et aer Ser e
& IR 3w s, Sepe § Afvw F a2 YyE W oyersE $ e, w2 & o whhw ik §
w1 w9 | frag mu | 7w o s wam = E st st e e e d 2
(A) Sy g9 (B) e wwE

(C) & vuE (D) A9 9 %1 A&

Identify the FALSE statement in connection to Nelson’s Theory of Low-Level
Equilibrium :

(A) Underdeveloped economies witness a stable equilibrium of per capita income

close to subsistence levels

(B) Increases in per capita income leads to increases in population which further
increases per capita income

(C) Aneconomy may escape the low-level equilibrium trapif the rate of growth of
income exceeds the growth rate of population

(D) Nelson's model consists of three equations relating to : income growth/distri-
bution, population growth and net capital formation/savings

"o & fra- i Hqem & faga & 9=y # e S99 &1 e

(A) wfawfan sdeagzasi § frafe T & wiw vit =i @ w1 fer daem s wm

(B) wfa =af amg # gfe & seen § afs &t & ol wf = ama  ain gfs ot &

(C) =g zma F1 gfe T swyem 21 3z 7 | afus 8 @ v sdsaen Fra-waim e
e # WY et g

(D) o5 & wfed # 7 S5 wina § « s gfe/faam, swden gfs $iv g I
o/ a=m
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70. Which of the following is TRUE with respect to Marx’s vie:'pv of capitalistic
development ?

(A) Economic relations are based on the interaction between 'II.’lEIl and economic

goods

(B) The history of humankind and social change have been driven by the class
struggle )

(C) Socialists commoditise the production process and subject__niqture to its force

1

(D) Surplus value is the value added to products by the capitalist and which is

shared among the labourers
Aot Frr R e gfee & e et @ wE we E 2

(A) nfeien Gy wqeA Sl snfeien owgedl & o e fen T s d €

(B) WA wiifa =1 sfier iR wrferes aftad o e & Wfm w ®

(o)) Wﬂmuﬁmmmmﬂ%aﬁuﬁaﬁmﬁmﬁ%mﬂqmﬁ%
(D) mwwmmﬁﬁqu@wﬂmm@%ﬁammmt

Tiks " . economic policy propeses that government codstruchvaly enact
refurm with the nhjectlve of establishing a free-market. | I
(A) Neoliberal (B) Interventionist 1
(C) Classical (D) None of these |
.................................. anfefes ifr b1 v ¥ i e e W A e i R
TETHS B9 § YR AN FL 4
(A} TR (B) #=H
(C) aefase (D) %74 & & e |

72. Studies have found that US imports were more capltabmtensmia than its exports
despite the US’s comparative advantage in capital-intensive pmdmmun This is
representative of which economic paradox ? : |
(A) The Paradox of Thrift (B) The Gibson paradox
(C) Giffen’s paradox (D) The Leontief parad:
el | e =en & o o -wem v # sifi 2 qeeers o @ aEeg SERE S
s Frria %1 qoren @ e do-ed 8 1 7% e st et w1 farE ¥ 2
(A) Faaeafam =1 fadaams (B) firewet e |
(C) fird= = fadrenymg (D) o= fadmm
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73. -Match the following items from Column *

payment sub-accounts in Column ‘B’ :

Column ‘A’ Column ‘B’
(i) . Foreign Direct Investments (@) Capital Account
(i) Monetary Gold held and SDRs  (b) Errors and Omissions (i.e, statistical
allocated to the country discrepancies)
(zii) Tllegal transactions (¢) Current Account
(iv) Services/Invisible trade (d) Official Reserves Account
@ @) @) Gw)
(A) (e () d) (&)
(B) (@) () (d) f(e)
(C) (© () B) (a)
D) (@ (@) B (e
Ftem A’ A s amal & #te B’ # 398 TR YA TR S9-ad @ @
femsd
e ‘A’ wHey ‘B’
() werw fazed fadm (@ bt =
(i) ek dm v fEm T SR ) el st (ar wifema et
&1 THETAR SEfen
(i) FAT AT (e) =] @
(i) Hemd)/ 3R SR (d) s foord @
(M) @ (@) o)
A ©@ ®) @ (@
B) @ ® d
C) © @ B (a0
D) (@ (@ B (e
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74.

75.

Which of the following international trade policies would you prefer if you were a
small entrepreneur working in an industry which has only mcentlyl begun to develop
in India ?

(A) Free Trade

(B) Protectionism

(C). Neither of the above

(D) Indifferent either choice will have minimal impaet

Afg &9 U TH E H W e A 912 3AH! B, ‘ﬁlmﬁﬁwﬁﬁmﬁﬁ’{}?gﬂ
¥ i o Frefafas 8 | S sty s i 969 F:30 7

(A) HE SR

(B) EeeomEs

(C) I7gFH A FE T&

(D) feeh oft faen % wft sard @3 W =" wvE 7Em

Which of the following statements is FALSE in relation to the Purchasing Power
Parity (PPP) theory ?

(A) Simply put, the PPP theory says that the exchange rate fends to rest at the

point of equality between the respective purchasing powers of the two
currencies

(B) The Big Mac index is a light-hearted test of the PPP theory comparing the
price of a Big Mac McDonald’s burger across different countries

(C) Since governments intervene in their economies through controlled prices and
trade barriers, PPP is rarely observed in reality '

(D) According to PPP, if prices in India double and those in TJSA remain the same,
the value of the rupee vis-a-vis the dollar will also double

w4 e gHan (i) fagia & dey & freafafen SRa s nem & 2

(A) dRw=idwEa, wmmtﬁﬁﬁmmﬂmﬁaﬂuﬂawwﬁaﬁ%
a9 ga & fag W et At #

(B) T #= s2aw fafu= 2wt # fam He Fepetarees TR &1 S0 F1 ge1 F3 3 drdrdt
fagia =1 o wem-Ten T ¥

(C) df wii Frafaa St ofit =R annett & wmem | 3t sesaens § gwaay
dl &, gafen arafasa § od wrag @ w90 2 e ¥

(D) it = ST, A e # e 2w A e s s # Fied g O, @ e
HehTaet T94 &1 ged Hi I @ s
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76.  Fillin the blanks in the following table :

Null hypothesis True False
i8....
Rejected eorrect
—_ decision
(A) Type II error denoted by a (B) Type I error denoted by fi
(C) Type I error denoted by a (D) Type II error denoted by j
Freffea mive ¥ fi zam of .
I 9T H 3FEH
R
FEEmR 1 fea Tl
== Fmia

(A) 9 11 32 1 o gm0 Frefug fFm mn 2
(B) 2913 F1 5w i T
(C) =9 132 o g0 2w mn &
(D) =9 11 3 =1 p gr =9ifen w7 &

77.  Determine the degrees of freedom (df) in the following cases :
(I}  atwo-sample t-test where sample size (n) = 10 for each sample
(I} a paired sample t-test where sample size (n) = 10,
(A) (Ddf=18,(I1)df=9 (B) (I)df=18,(II) df = 18
(C) (Mdf=9,(IDdf=9 M) (Ddf=19, (1) df =18
frretfetiem wme | e &1 feut (df) Fwifa wifes «
(1) T -GN t-T0am el ¥&% 7931 & o T SFR (n) =10 %
(I1) W FFwa o t-9Tam el F55 SH (n) = 10
(A) (D df=18, (D) df=9 (B) (Ddf=18,(ID df =18
(C) Mdf=9,(I)df=9 (D) (I)df=19,(I) df=18
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78. When two or more of the independent variables are highly correlated, such a

situation is called :

(A) Autocorrelation (B) Heteroskedasticity

(C) Homoskedasticity (D) Multicollinearity

w9 QA F AGF W W AAF TeEas aa 5, a1 U i e E
EiGikd

(A) wa-geHEy (B) fasmetfrase

(C) HAmT (D) T (agEiia)

79. A regression model with only dummy (i.e. dichotomous or catagorié:alj explanatory
variables is equivalent to which other model ?

(A) Independent t-test By ANOVA

(C) F-test (D) Paired t-test

o 2T (e fgwfem 31 Svfters) saTedTeRe = aren Tk Yy Hisw e 5 e &
AL ? ,

(A) T A-TEm (B) UHmE

(C) TFH-uiiam (D) g F-ia

80. Which of the following terms from the consumption funetion gfivan below is a
derivative and represents one of the many applications of differentiation in
economics ?

Consumption function : Consumption = Autonomous consumption + MPC(Income-

tax) |
(A) Consumption (B) Autonomous consumption
(C) MPC (D) Income tax

ﬂ%ﬁqnﬁwﬂnwﬁ%mm%tﬂnmﬁﬁmﬂﬁ ST
Y v =1 wfaffam Fwm & 2

FYHT EEAT : ITUNT = TET 39U + T (2T
(A) =94 (B) EET 3U4M
(C) wAdE (D) &L
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81l.  Formulate the objective function for the following linear programming problem :

Product P Q R
Yield (kg) per acre 50 40 80
Selling price (Rs.) 20 15 10
Labour hours per acre 5 ;£ SO R 1

Labour cost per acre (Rs) = 2()

Fertilizer cost per acre (Rs.) = 100

P, g, r represent number of acres allotted to product P, § and R respectively.
(A) Min. = 200p + 300g + 400r (B) Min. = 1200p +900g + 1200r
(C) Max. = 1000p + 600qg + 800r (D) Max. = 800p + 300g + 400r
Frefefad e dmfin gren & fou e v Tam it

Iarg P Q R
o5 (fm) wft g 50 40 80
g e (%.) 20 15 10
g uFE g =2 5 10 15

wftd UHE HH 7 (F.) = 20
Ui UFE I9F VA (F) = 100
P, q, r F9Y: 3005 P, Q 3R R & fou smafeq uhe 1 9= 71 ufafiae S 8
(A) =799 = 200p + 300q + 400r (B) =79 = 1200p + 900g + 1200r
(C) @femad = 1000p + 600g + 800r (D)  “Ifi=FaH = 800p + 300g + 400r
82.  Which of the following statements is FALSE in relation to matrix multiplication ?
(A) Multiplication of an integer by a matrix is called scalar multiplication

(B) For multiplication of two matrices, the number of columns in matrix 1 should
equal the number of columns in matrix 2

(C) The resulting matrix after multiplication will have the same number of rows
as matrix 1 and the same number of columns as matrix 2

(D) X=AB isthe simple notation of matrix multiplication between A and B with X
as the resulting product matrix

Hfgwe U & Fay | fFrefatan 3§ & Sem Fe e € 2
(A) Tt o =t Bferg & Ton F Afew o FEE #
(B) iﬁ%w*ﬁ.%ﬁﬁﬁaﬂﬁmﬁ%mzﬁﬁﬁﬁﬁmﬁmﬁ

(C) 7o & =g ufroHt Hfzea # dfaadl 1 wen i 1 & wEm o Wl #51 wen i
2 & TOH 2
(D) X =AB vftondt 3R #feaw & ¥y 1§ X &% 919 A 31 B % &9 Ao 109 =1 9d
e &
T.B.C. : 2024/JA/TI 86



83.

54,

Which of the following is an example of primary data which 15 quantitative in
nature ? ®
(A) Income data collected from neighbours via questionnaires
(B) Customer satisfaction feedback compiled from online surveys
(C) Share price data from the Bombay Stock Exchange
(D) Memoirs and personal diaries
Frafetes 4 @ s mafas 2o #1 2w < vl d st 7
(A) 9! & Werm A Sl | s @ e fma T
(B) Ao WA H A HHiea W gqfe wiafwa
(C) v W= TRy § T 959 21
(D) HE S Ay et
Match the following sampling techniques from Column ‘A’ with their appropriate
classification in Column ‘B’
Column ‘A’
(f)  Snowball sampling
(ii) Convenience sampling
(iii) Judgement sampling
(fv) Quota sampling
@ G ) Gw) :
(A) (@ (@) b)) (& i
(B) (@ f(a) (a) (a)
(C) ) B) ) )
D) @) (@) @ @&
mwﬁﬁnﬁfﬁmﬁﬁm%*s’ﬁmsﬁam%mﬂm

Column ‘B’
(a) Probability sampling
(6) Non-probability sampling

i ‘A’
(@) e T
(i) Hfeen TR
(i) Toig AT
(iv) I T
(@) @ @@ Gw)
(A) (@) (B (b) (@)
(B) (a) f(a) (@) (a)
(C) (&) () &) @)
M) ) (@) (a) (b)

TB.C. : 2024/JAM
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85. Which of the following is NOT a characteristic of a good average ?
(A) It should be rigidly defined but simple to calculate
(B) It should be based on all ocbservations but not impacted by extreme values
(C) It should be (to the extent possible) unaffected by the aamplmg method
(D) None of the above
fefafea 3 & #r ws = daa 3 fadm 76 € 2
(A) 7] wara | v o s =nfed S o ST AR B e
(B) % Wit Ao W ameIiTa B =nfed St srefis g | wenfm et 2 wifed
(C) 4% (v 7= gy B) e fafy § awafad g =l
(D) e o & 1 ot 7

86. Based on the following statements relating to Skewness and Kurtosis, identify the
correct option :

(I) Skewness indicates the symmetry of the distribution while Kurtosis indicates
its peakedneas.

(I1) Income distribution in India would usually appear to be positively skewed.

(ITI) Negative kurtosis indicates a flatter distribution while negatively skewed
distribution will have a longer tail to the right-side.

(A) (D), (I1) and (III) are correct

(B) (I)is correct, and (II) and (III) are incorrect

(C) (I) and (II) are correct and (III) is incorrect

(D) (D) and (III) are correct and (II) is incorrect

forcer si F2itaw & wafun frafafes Hed § R w8 fawe S veer il

() Taverr faato 1 THETa F1 27 STa1 & safe Helfe S9! ST S F T ©

(1) s 3t faawor SaR W SR w9 3 fawm witd 2 €

(II1) TeRTOreereh Farere e =ryepe fareron =61 2 e & wafs T &9 4 e
farereor 3 ifet iR O =t Y@ AR §

(A) (D), (ID) 3 (11D =&t &

(B) (D) =& %, 3 (1) 3 (110 e &

(©) (D 3 (an =& & i (110) e &

(D) (D) i (I =& ¥, 3R (D) 7w 8
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87.  Which of the following is the correct expression of the formula for Spearman’s Rank

coefficient ? I
(A) rs=1-[62di2/n(n2 - 1)] (B) rs=1+ [6Zdi/n(n2—1)]
(C) rs=1-[6Zdi2/n(n—1)] (D) re=1+ [6Zdi2/n(n? : 1)
Foeffiar & T e & f i & g1 9 wh st 2
(A) rs=1-[6Zdi2/n(n2-1) (B) rs=1+ [6Zdi/n(n2 - 1)]
(C) rs=1-[6Zdi2/n(n-1)] (D) rs=1+ [6Xdi2/n(nZ - 1)]

88.  Which of the following is NOT a property of regression cneﬂicienti; ?
(A) They are independent -IJf' change of origin but not of scale
(B) If one regression coefficient is greater than 1, the other must be less than 1
(C) If one regression coefficient is positive the other must be neq;htive
(D) None of the above
ittt & & @i Sfam o e 2 |
(A) = Seafa & Uiad @ W@y € s T 3 78 |
(B) afe us Ffomm quiiss 1 § arfrsn &, o g5 1 § 9 9 =9
(C) AfE TF WiTTH UIh THRe & 6 500 THETE S 9
(D) 3I9ga § | FE 7&

B0 e mean of the two regression coefficients is greater than or equal to

T
1

the correlation coefficient, while the ..................._.. mean between the regression
coefficients is equal fo the correlation coefficient.’ Fill in the blanks.
(A) Harmonic, Weighted (B) * Arithmetic, Harmunji%:
(C) Arithmetic, Geometric (D) Geometrie, Arithmetie
'Sl WP IR T i, "I ey e 9 S 9 96 AT &, S41tE
VR ORI HEEAY TOTE & ey B foam w2
ufg | 5
(A) wmif, aifE (B) =fwivr, grffe |
() sism, s D) e
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00. An observed time series can be generally decomposed into different components.
From the below options, select the CORRECT SEQUENCE of these components
beginning from the component with the shortest term to the longest term :

(A) Irregular variation, Seasonal trend, Secular trend
(B) Irregular variation, Secular trend, Seasonal trend
(C) Seasonal trend, Secular trend, Irregular trend
(D) Seasonal trend, Irregular trend, Secular trend

e HfeE T AEe s W faf v 3 faefo e o wE @) AR fay
e B 2 Al O U TS Hew & SE GuE 42 T ) 62 6 Y[E o a1 § e
el ATF F1 T Hiod

(A) Jfrafia ftads, @ wafa, adfae wE
(B) aifrafia fa=ran, utmiy wabs, Sad v
() et wafa, ity wefv, sifmiam vgia
) Rt v, st vaf, i s
91. Index numbers can be primarily classified into three types. Which of the following

is NOT among these three ?
(A) Quantity index (B) Price index
(C) Value index (D) Speculative index

i i 3 T v e 3 e R e | Pt 3 3 e e A
AR E ?
(A) HE gEFH (B) ®a ga&i®h
(€) T gAH (D) T IR
92, ‘Meditation helps me focus.’
‘Of all others who practise meditation, all are able to focus.”
‘Hence, meditation helps improve focus.” This is an example of which reasoning

approach 7

(A) Deductive (B) Inductive
(C) Constructive (D) Discursive
Cor 3 T e O H Heg w e

s R ST O AT 3 e A A i H A O e §

e, AT P ) g A e e ¥ 1 7w i e g W 2
(A) fage= (B) @feeards

(C) THIEE (D) IS
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(£) Laheﬂing countrieg 45 either (a) Nomina]
developing or dEVEloped

(i1) Householg Income datq from g (b)  Ordinaj
locality with different Strata of
income-leyelg

(&if) Customer Satisfaction wit, the (¢ Interva)
Servicing of their automobhije
measured op g Likert scale

(i)  Secore obtained op an employment (@) Ratio
test
(L) @) ()

(A) (a) ®) © (@

B) B) (g () (q)

© @ @ B)  (e)

(iit) Whﬁmmﬁ%aﬁwm (¢)  simm
1 e 3 wigfie
(Ev) mvﬁwwmaﬁs @ sy |
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g4, Which of the following statements i8 FALSE?
(i) The F-test is used 0 compare yariances 0f the equality of means among 3 or
more groups
G Thet-test :q used to compare the means between two groups
(i) Non-parametric tests do not require the underlying distribution to adhere to

specific assumptions
(A) (i)and D) ®) (i), (i) and (iid)
() (it only (D) Nomne of these

ﬁmﬁtﬁ@ﬁmﬁﬁﬂaﬁﬂﬁnﬁa%?
(i) - w1 3 3 aﬁﬁuﬁa%ﬁaﬁqﬂmmmﬁaﬁmaﬁwﬁ#

95, The unethical research practice in which a researcher divides one single work into
multiple different papers despite using the same underlying data and methods with
the intention of increasing one’s publication and/or citation profile is known T B

(A) Selective reporting bias (B) Plagiarism
(C) Dual Gubmission (D) Salami alicing

apifaen ¥ mmnﬁﬁﬁﬁmmﬁwﬁﬁnmmﬁrﬂﬁﬂﬁﬁﬁmﬁ
o FatdTEd S ﬁﬁﬁﬁﬁmmmﬁﬁ'@ﬁﬂmﬂﬁmﬂ-mﬂﬁqﬁﬁ

ﬁwﬁﬁﬂm%,:ﬁ: .................. = &9 § wrE S €l
(A) e T e (B) =
() v (D) He T
96. ....,...,............,.....isthemmprehenaiveplan,madetuaecnmpﬁshtheorganizatimai
goals.
(A) Strategic Management (B) Strategy
(C) Pohcy (D) Methodology
*..,..,.....‘.“.......;..Wﬁﬁﬁ{ﬂ'&?ﬁﬁmﬂ‘rﬁﬁtﬁ‘d‘lﬁmﬁl
(A) w@ﬁﬁlﬁuﬁﬂﬂ (B) T
(c) At ) feafam
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97. A PESTEL or PESTLE analysis (formerly known as PE%T analysis) is a

framework to tool used to analyze and monitor-............... ... ..
(A) Micro-Environmental Factors (B) Techuulogi:ial Factors

(C) Macro-environmental Factors (D) Internal Fa,lr:tnrs

PESTEL® PESTLE faverww (ford vest PEST faveiom 2 9m § wpr wn o) favsmo
SR Pt = forg svm o < A1t SR T R |

.....................

(A) g8 e wrem (B) wFIht F |
(©) et Frew ©) st b
98.  SWOT analysis as a strategic management tool defines core mméetencie_s as:
(A) Strategy (B} Opportunity |
(C) Strength (D) Policy ;
wwﬁhﬁﬁwma}wﬁswmﬁ?ﬁwg@zmﬁﬂwmuﬁw
A E ;
(A) Torfy (B) s |
(C) w%q (D) i
e N e e is an ongoing process that identifies necessary campetencies, then

works to assess, develop and retain = talent pool of employees, in %:-n:har toensure a
continuity of leadership for all critical positions.

(A) Succession Planning (B) Human Resource Plllmnmg
(C) Career Planning (D) Diversification |

mmmtmwamﬁwmtmm
Wﬁ%h%ﬁﬁmmmﬁﬁmmﬁﬁ%mmmm
farer ¥ o v B forn o = 2 :

(A) IafR =i D T3 (B) =rEwEMAAS
(C) Hfeat A (D) fafaem

|
|
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100. Match the following : WIS T 0T

Column ‘A’ Column ‘B’
(#) Management (@) Consists of the Board of Directors and
the Chief Executive Officer
(i) Science (b) It is the act of getting people together

to accomplish desired goals and

objectives using available resources
effectively and efficiently

(ii1) Profession (¢) 'Itisasystematic body of knowledge
pertaining to a specific field of study
that contains general facts which
explains a phenomena

(iv) Top Level (d) It is an occupation that requires
specialized knowledge of management
and intensive academic preparations

to which entry is regulated by a
representative body

Options :

@) G GE) )

(A) () (@ (d) (a)

B) () (& (b)) (a)

(Q) (d (@ (b)) (e

M (@ (@ ) d

FrefafEy =1 foam e

WA _ e ‘B’

() WA (@) zod FRvE §Ew S qEd wEE
s e

(i) o (b) ST TR &1 W 21 W I HEe
B TUERT F T B0 AR it @ed I S
= fer Sl 1 o | T i wE

(i) =N (¢) % o fafime &9 & gatya 36 F T
syafres freg &, T s e T
agy o 7 i o fad wen &1 =
O _

(iv) ¥ @ () e T T e & e e e e
Srfores Tt = fem fadm 5 &1 SEvasal
ﬁﬁtﬁh?uﬁﬁﬁiﬁmﬂﬁmﬁﬁmﬁﬁ
oo stman

fawea :

(0 G G Gw)
(A) () (e () (a)
(B) () (d) (b) (a)
(Cy (d) (@) (b) (o)
M (@ (@ (&) (d
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fouifm w99 @ 02 9 wfsran &% : 100

L ; ."g'l“i il
L i {[E B ® i 4, S 9% e mﬁﬁuﬂw%ﬁamﬁmgtﬁmﬂmmwm
qe3 7 T3 g Al ; ‘Qf : |
9 F SEE T T F-THE | S99 T

' ¥ wHOE itz =
4 Eu%ewﬂﬂ ﬁﬁﬁﬁﬁa%mﬁﬁfﬂ 50}m%.ﬁnﬁauﬂmﬁ%,ﬁqwﬁlw-u
A . aEm 100 T 50
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Foer ffyiee WA (AT A1 BANSIR TSR a1 O3 ‘Ttamz:qm;éﬁmﬁﬁwg
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PIETE EUEi o 3 T = oEn & § fAwen (D) © e B L
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7. mmmmw-ﬁmﬁm%ﬁzﬁﬁﬁ# = o =) Fafim w0 & forg, s =3, SRl
FT T ﬁhﬁ%mﬂgﬁmm—ﬁmﬁ@ﬁw Gl
13 ® g, ST HEE S =1 78
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